GRIP/21

Qursl oinley
(ULLOUIQ UL STLD)

1.  Which of the following objectives are true with relevant of Tamil Nadu Social Welfare Board?

1. Upliftment of people e living below poverty line through voluntary institutions in
thestate
To p romote setting up of Non-Governmental Social Welfare Organizations
To render technical and financial assistance to the voluntary institutions for better
quality and standard of services

4. To strive for equality between men and women

(A)1,2and 4 (B)2,3and 4

(©)1,3and 4 (D)1,2and 3

(E) Answer not known

SPBTH Fewnsd Hev auMflUGSILeT QSTLILUemLW LlaTai@l GBhTHsHsmGele 6l

9 600T6mILO?

1. LIBVEH 2 6TaT H6OTETTI6U HIMIGIETHEIGET VD aumienng CHTL (&GS B
QUMWLD n&&serfleor GobLIm)
T& FMTT FENG [HEV 3 6MLDLILFHEN6T SenDLILINS 2615 &6l & 560
b STD WMHMID CFamealseflear HISHMETE SHETETTI6 [HlMI6I60TH S EHSH G
QaMNeLHIL LI InMmmILD B1S 2 Sell&HemeT 6lLphIE 60

4. SL6E00TSHEHEGLD GLIEITSHEHSH G @emLullevmeT FlngSI0S5HMETS LTH LB s

(A) 1, 2 DHOILD 4 (B) 2, 3 nmmild 4
(C) 1, 3 ML 4 (D)1, 2 Hmbd 3
(E) allemL s flwelevemey (GRIP/21)

2.  Choose the correct statements related to “Black money”
1. These are assets not reported to the Government at the time of their generation
2. Estimate of black money in India for the year 1983-84 is 95% of GDP
3. “Tax havens” are typically big countries which impose high tax on the foreigners who
decide to settle down

(A) 1 only (B) 2 only
(CO)1and2 (D)2 and 3
(E) Answer not known

&S@MUL UeoTld QS TLIUMeT HLP&HTeolld  Samnll/dammisefley  Fiflwmereumenm

CoIaG&FUIWe LD

1. @bS eaemswWmer @ULL 2 Lewselar 2. mussH umm ATHSESG SHHeUeY
Q&MTH &&LILG IS LMV
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2. 1983-84 SLlb 9Le00TIQ6V, &H@HLIL UeorsHeor WG ULTLmeorgl, QUMES 2 6THITL ()
2 mug&uiley (GDP) 95% <& LD

3. "eulfl gmmo L&D eTedTLIEm6 QUTSIaITS QUi BTH\&6TTES @) (H&HEWD. GLoswd
ABS BTHSHET, GUCWM eTeooremild GeueflBTL Lol Wa AH& elflFsemnenil

) evof185 & LD
(A)1 @b 4 (B) 2 nL_(pld
(C)1wmmib 2 (D) 2 nmmib 3
(E) allemL s flwelevemey (GRIP/21)

3. Statement1: A majorissue highlighted by census 2011 is that there are around 50 lakh less

children in age group 0-6 years in census 2011 than census 2001.

Statement 2 : Population growth rate between 2001 and 2011 is lower than the Population
growth rate between 1991 and 2001.

(A) S1 and S2 ae correct but S2 does not explain S1

(B) S1is wrong; S2 is correct

(C) Both S1 and S2 are wrong

(D) S1 and S2 are correct and S2 explains the S1

(E) Answer not known

FndmI1 : 0-6 QWG GLPIHeM S8 6T60T 6T600T60011860 & 2001 D& &6 Q& Tem &
HeoTEHR & BILIemnU @LU1LNGWLELITS 2011 IN&56T QST &HeooTd e & HILIL60
FLIOMHT 50 VL&D QU6 G6MMIHHI6TETS. @\H& 2_600T60L (D& LI
LNg&oeneT Mg 2011 ID&:86T QFHTendH 860018561 & (H L1L160
FLIQSHSTLL UL (HeTeng

MM 2 : 2001 DMHMILD 2011 1D L,60T(HHEHEEG @) 60 UN6LITEIT L0&HE6T Q&M &
aIeTIES afsb 1991 IDMMILD 2001 LD 24,600T(H 868G @)emL_ullevmeor
NS GHETOH TN S aUeTTEF 6755 H1L 60T L ILN[H e & U6V &HemmelTerTsl @& LD

(A) snmmi 1 I0MHMILD 2 FIfl, QLETTEL S MM 2, T MM 1-5:5 60T N6ETESHLD 606V

(B) gahay 1 ougy 2 &ifl

(C) epoy 1 LOYILD 2 Uy

(D) gammi 1 nHmMID 2 F1fl, G MM 2, FoMMI 1-&&Teor FFlWImeT elemd a0

(E) allemL s flwelevemey (GRIP/21)

4. What are the recent trends in the global economy which has led to RBI ‘sell buy’ swap of
USD/INR
1. Financial markets worldwide facing intense selling pressures due to the spread of Covid-
19 infections
2. Slump in international crude prices
3. Emerging market currencies experiencing upward pressure
(A) 1 only (B)2and 3
(C)1and 2 (D) 3 only
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(E) Answer not known
2 V5 QUIMTBETTSTISSH 6T FLTL CLIME G &6 6V eTemal [fleieu eumi& uler (RBI) 9@ wifl&s
Lmeuy — @bHw epUTU “"aflMH@&-eummi@” ufllomrmmsens QEFWLGSS STF6ooTL0Ns

3|6LDIH SI6TETSHI?
1. Gamaill-19 QUIBHOSTHMTE 2_60&H6mele B1S FHenGSH6T FHHES! aUBLD ellMLIemeor
QarLyuTer ST WSS

2 08 FHemSWI6L HEFFT 6T6vor Q60T U lemev Fiflay
QIeTIHSI eI SFhengsefledr mBmeorw WHLUL GCLCHTERW AWEHESSHMS

FHH LILIG
(A) 1 L GID (B) 2 npoid 3
(C)1wmmib 2 (D) 3 L (hd
(E) allemL s flwelevemev (GRIP/21)

5. Name the forst backward classes commission established in the year 1953
(A) Mandal Commission
(B) Kalelkar Commission
(C) Harbajan Commission
(D) National Commission for backward classes
(E) Answer not known
195360 BloeulIUl L Wwsev HNOUGSSLILULL QIGLILG&ET L6060 WSH 6T GLIWLmTESH
1310 [T [T
(A) LD6DOTL_6L 26076007 WILD
(B) &MG6eL6LSHIT 3,6, 600T LLILD
(C) amyLULe6T 24,60)600T WILD
(D) NetraBIS W 6@ LIS EH5 S TeT C&H T U i, 60)600TLLI6OT LD
(E) allemL s flwelevemey (GRIP/21)

6.  Whichof the following statements regarding Arignar Anna is/are correct?
1. He served as the sub editor of the “Justice” Magazine
2. He became editor for “Viduthalai”
3. He was associated with activities related to Tamil Weekly paper “Mudi Arasu”
(A) 1 only (B)1and 2
(C)2and 3 (D)1,2and 3
(E) Answer not known
M@ T 3jevorevorm LMW FIWITET FoMenm/FaMmISGen6T G556 Q& W6 LD
1. 9ay "B5 usHflenasuwiler gemevor R flLITTe Lievoflwimmnilermy
2. "elhsme’ LUsHflemsuler oA flwrmes Lesoflwmmmleormy
3. "(WLIQWIE" eTelld SO QUM @& QST LT Licoollgerfley FE UL LT
(A)1 (b (B) 1 nmmiin 2
(C) 2 poiLd 3 (D) 1, 2 HmIbH 3
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(E) allemL s flwelevemey (GRIP/21)

7.  In 1944 at which district conference, ‘Justice Party’ was converted into ‘Dravidar Kazhakam’?

(A) Salem (B) Namakal

(C) Dahrmapuri (D) Trichy

(E) Answer not known

1944-60 BHEOLGLIMM LIBILIge BRI, SHomeallLl &Hp&ITS
Lrmlws

(A) GFeuld (B) Bmn& 860

(C) sy (D) 8GR

(E) allemL s flwelevemey (GRIP/21)

8. Which among the following statements is not an objective of “Cradle Baby Scheme”?
(A) To ensure adoption of family planning
(B) To eradicate female infanticide
(C) To increase child sex ratio
(D) To increase the rate of girl child literacy
(E) Answer not known
LN6Tau LD FonMmiserlev "QS ML 1960 GBS FIL LEH 6T CHTHSD VVTHS 6T5I?
(A) 5Ous &sLQUTH Wenmeml 2. MIF Q&g
(B) Quetor R &G & menevenl eSILILIS)
(C) ewbaoms undear allfgsms 2B sHLILG
(D) Quetor GLhHeng s erfler Hevallwinleneal S &If1LILS
(E) allemL s flwelevemev (GRIP/21)

9. 1. To transfer the substantive provisions under the Indian Penal Code
2. Dowry givers should be excluded from punishment
3. Appointment of Dowry Prohibition Officers
4. The marriage expenses should be limited to 20% of the annual income of the girls’
parents/guardian
Which of the above statements is/are true concerning the Dowry Prohibitin Act, 1961?
(A) 1 only (B) 2 only
(G 1and 3 (D) All of the above

(E) Answer not known
@HB U &600TLen6TE FL_L&H60T BLb G600l &FI0MeoT all& &eme6T InmmHmieal gl

2. IsLFamer Q&THLILIGITSHET &6vor_emeruiledlmhg ellevsssLiLL. Galeor(h LD
3. QUISLF@0 Sl AF&MIlGHemer Bl s 60
4. HGLTF  QFaSsET  QuUettrsefledr QUMECMHTT/UTSISTaIleT  9600T(h

QIIHLOMETEHF60 20% 8 &6T @) (558 Gauevor(h LD
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1961 QIS FM60T SOLFFLLID QFTLIUTET GCLMEHEITL FnMMIGH6TI) 615l /6Tenal

2 _600T6MLO?

(A) 1 DL (b (B) 2 nL_(hLd

(C)1wmmib 3 (D) Gom&s6voTL. 3|6Mm60TSH SN
(E) allemL s flwelevemey (GRIP/21)

10. The Samarasa Suddha Sanmarga Sangam was founded by
(A) Dr. Muthulakshmi Reddy (B) T.M. Nair
(C) Thanthai Periyar (D) Ramalinga Adigal
(E) Answer not known
FIOIF &5 FOTINMTHS FRISHESMS 2 (HeUTH R WeUF

(A) Dr. g8 &1 QILLg (B) 19.61LD. BTWIT
(C) shems QuIflwimy (D) @umnedmis 9198561
(E) allemL s flwelevemey (GRIP/21)

11. During 1820s in Tamil Nadu the subordinate castes were generally prohibited from

1. Using umbrella 2. Wearing shoes
3. Wearing golden ornaments 4. Wearing turban
A)1,2,3 (B)2,3,4
(©)3,4,1 (D)4, 1,2

(E) Answer not known
1820&6fley  SUAPHBTLIGL STHSSLUULL FTHWlONHESEG QUTSIUTESE SHOLEF

QEFWWLILILL 606

1. GenL LI et Lm() 2. 55TeV6DT] 9| 6v0fl6U Sl

3. BHIG HeN & 2| 6ofleugl 4. LTLI6T 2|evofleug
A1,2,3 (B)2,3,4

(©3,4,1 (D) 4,1,2

(E) allemL s flwelevemey (GRIP/21)

12. What are the facts related to defining GDP?
1. Itis not for a specific period of time
2. It measures only goods and not services
3. Itis a non monetary measure
(A) 1is correct 2 and 3 are wrong
(B) 2 and 3 are correct 1 is wrong
(C) 1, 2, 3 are wrong
(D) 2 is correct 1 and 3 are wrong
(E) Answer not known
QMEs 2 6L 2 MmusSH (GDP) QamLFumeT FlWmeT Juhenm/sammigsener CaHIe]
Q&FWIWea]LD
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1. 98 T GOIULNLL &M aIenTWameE 2 155 Tergl 3606V

2. 95 "QUTBLSET" QSTLIUMTET e 3emafCLWMGLD, "CFemel” QSTLITLITETS {606V
3. 3G LewTd FMIng jemefLMm&LDh

(A) 1&1fl 2 DODID 3 Heuml

(B) 2 npmitb 3 &l 1 Heum

€)1, 2,3 500

(D) 2 &1fl 1 D@D 3 Heumy

(E) allevL Gz flwelevemney (GRIP/21)

13. Which District is occupying the last rank in Human Development Index in Tamil Nadu?
(A) Villupuram (B) Theni
(C) Perambalur (D) Ariyalur
(E) Answer not known
SOLD BITLIQ6T 6THES WMaIl LD Weflg GuLUTLG Il Lalemeruley &L FulLLd

NP &R GTMSI?

(A) eflpuiyyid (B) Ggenfl

(C) QupbugTy (D) eiflwerry

(E) allemL s flwelevemey (GRIP/21)

14. Match the following

Authorl Book

(a) Vannadasan 1. Sancharam

(b) Ingulab 2. Sool

(¢) Ramakrishnan 3. Kaandal Naatkal

(d) Cho. Dharman 4. Oru Siruj Isai

QUTBHSS&H

A flwF L6 L LIL}/L1& &0

(a) 6u6v0T600T S TE 60T 1. FEHFMTLD

(b) @er@e6urTLl 2. @6V

(¢) gL (619 cvoT60T 3. &MHSET BHITL_G6T

(d) sywer.GEm 4. 2 Py Qs
@ ® @ @@

A) 1 2 3 4

(B) 3 2 4 1

O 4 3 1 2

(D) 2 3 4 1

(E) ellemL s flwelevemev (GRIP/21)

15. Child Development Index takes into account of the following factors
1. Education 2. Income
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3. Health 4. Nutritional status

Select the appropriate combination

(A)1,2and 3 (B)1,3and 4

(C©)1,2and 4 (D) 2,3and 4

(E) Answer not known

GLHMS GUTL.(H& &MIuI®H LY edTeu(pLD S ITIT600T 1 560675 560078 &) 6V

6T(H & H GO &HTETH MG

1. sevall 2. QU(HLOMTEDTLD

3. &SISTTLD 4. 261" |_F55 G Blemsv

(A) 1, 2 HmID 3 (B) 1, 3 woibd 4

() 1, 2 OYLD 4 (D) 2, 3 LOYILD 4

(E) el Qaflweilsvemev (GRIP/21)

16. Punjabilanguage has close connection with

(A) Hindi and Urdu (B) Hindi and Sindhi

(C) Persian and Urdu (D) Sanskrit and Hindi

(E) Answer not known

LehFmL Qomdl 2 _L60T QBIHHBIHW QSHTLITL 2 6L UG

(A) aflb®) HmID 2 BHS (B) anllb&) npmilh Fb&)

(©) uny&sLb MHMILD 2 (HS (D) #env& (S LMD MBS
(E) ellemL s flwelevemev (GRIP/21)

17.  Which article of Constitution of India mentions the abolition of untouchability?
(A) Article 16 (4) (B) Article 17
(C) Article 18 (D) Article 19
(E) Answer not known
@BH W TR WevemlnlILN6tT 6THS FIsH g HevorLmemin e SILIL] Limn) GMILILNG&S mSI?

(A) 16 (4) 758! (B) 17 5758
(C) 18 55 & (D) 19 57531
(E) ellemL s flwelevemev (GRIP/21)

18. Which ideology threatens Indian Unity?
(A) Communalism (B) Communism
(C) Democracy (D) Socialism
(E) Answer not known

Ths HHSH UL QHH W @HDIENLDMUL HEFFHFSSEMSI?

(A) auLigeumsld (B) QumglIa]emL6mLD
(C) ns&satTLA (D) GFmAwed &b
(E) allemL s flwelevemey (GRIP/21)

www.vetriias.com 9884421666/9884432666 7



http://www.vetriias.com/

19. This placeislocated 12 km SouthEast of Madurai. It proves the fact that an urban civilization
existed in Tamil Nadu in the Sangam era on the banks of the river Vaigai. A researcher and
retired civil servant Thiru R. Balakrishnan points to be similarities between this civilization
and Indus valley civilization.

Which of the following places is described in the paragraph above?

(A) Azhagankulam (B) Porunthal

(C) Keeladi (D) Kodumanal

(E) Answer not known

@eialLd waoruledmhs QFHOTHRWHESG Haguld, 12 KIS sTamevailey
b ElaTergl. SPEHEEHL Melemnd UMMBIGOTUIL FHISGSHT HHT BTHFle0D
SOLBHGHSS UDPW  HG.ST. UTLH GG, @hIG — NDOWDHSBHS
BM&fleasHn&Gn Hbs o BIsfleasHnH@Gn 2.6Tem MmN em6T

FLIQEHSTLOS M.

(A) SiLpeTGaTLD (B) QU@ bgev

(C) &g (D) @& Lo6voTeL

(E) allemL s flwelevemey (GRIP/21)

20. Which book explains the four noble truths of Buddhism?
(A) Nettiprakarana (B) Petakopadesa
(C) Buddhadatta (D) Ananda
(E) Answer not known
6T & LISSHBHID LSS 0G5S 60T [HTeOTG L|60flE5 2_600T6n)0G 606 el6md: &SR mS)?

(A) QpBLIg & TTeoTT B) JLGxsTUCHET
O usssssT (D) syt
(E) allemL s flwelevemev (GRIP/21)

21. Who first brought Christian faith into South India?
(A) Martin Luther (B) Ignatius Loyola
(C) St. Francis Xavier (D) St. Thomas
(E) Answer not known
(WPSET (NN BnilGGe BHLOLINE e U Q& eTent | HH WMell @& C\8MeooredT I H&HeUT WITH?

(A) LDITF1.60T TS (B) @&Geor& wieiv euBuwimevrt
(©) yeofls Npmer&lerv Coallwiry (D) yeofls sminev
(E) allemL s flwelevemey (GRIP/21)

22, This Philosophy was purportedly founded in the 5t Century BC by Makkhali Gosala. It was a
major rival of vedic religion. It reached the height of its popularity during the rule of the
Mauryan Emperor Bindusara around 4t century BC. This School of thought was followed for
nearly 2000 years through the 14t century CE in the southern states of Karnataka and
Tamilnadu
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Which school of thought is described above?

(A) Carvaka (B) Ajivika

(C) Lokayata (D) Mimamsa

(E) Answer not known

@5HH5HID D.(D. 5 LD BIMHMTEUTIQ6V D& TN CEHMTEFMLTTE BlmiauliLL 1q [H&HE&H6VTLD
et HMWLILESH M. & Caus WHSHNEG UG FeuTeLTs: QOBHSS. @&, &My
B.W. 4 Slb BTHMIergey Querflwl Cupysy Wbaienymeallear Ll H& &HmusHH 60
LS 2 5550 MLHSS. Q55530 B.1. 14 9l BIHMTeooT(H eueny S LS L
2000 9L600T(h SMVBIGET QHETIOMBIVBIGETTET &SIBITLST WMMID SUPHESH 6V
QsTLIBE LNetUmmUILIL LS.

Guevasmeild elleflliL] 6THS H&5SI0HMS GMSHRMSI?

(A) FieumssT (B) &y FeussLd
(C) GeumasmuwisL (D) WWwomb e
(E) allemL s flwelevemey (GRIP/21)

23. How the coronation of crown prince was described under the Vijayanagar rule?
(A) Aswamedayagam (B) Pattabhisegam
(C) Satabhisegam (D) Yuvaraja Pattabhisegam
(E) Answer not known
AQWBSET oL A uller GLp @ 6eTaurs e (LN G dn L6V 6Telal M O enpsaLILIL L GI?

(A) Sj6VeUGLSUWIMTSHLD (B) uLLm9Caq &0
(C) samlIGag&LD (D) weupmg UL LmUGaq &L
(E) allemL s flwelevemey (GRIP/21)

24. Ifasimple pendulum with the mass of the bob as ‘M’ has a time period ‘T’, then if in the same
pendulum another bob with mass 2M replaces the original bob. Now the time period is (it
may be assumed that the string attached to the bob has no mass)

(A)2T )7 ©T ES

(E) Answer not known

M er60Tm Blem Q& MeooTL. 6 Sevflewgedler (simple pendulum) siemevey GBI T eTeor
2 aTemgl LNeiT 955 6eflenaedler 2arem@etor(h LTHMLILIH6IST 3iF56T Blemm 2M 215
LTOISHMS. SMHCUTEH H6T 3emeve| GHBIJD 6T6TeTalMs: @) (HEHEGLD? (2ETF MG 600T60 L
STHEIGLD @6 BlenmWMmMSESTEHGE &([HSHEVITLD)

(A)2T )7 ©T ES

(E) allemL s flwelevemey (GRIP/21)

25. Alamgir nama was written by whom?
(A) Jafar Khan (B) Muhammad Qazim
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(C) Aurangazeb (D) Mukhtiar khan
(E) Answer not known
QLD EF BITDMemed @uIMMIuIg WImp?

(A) 2 LFssmeoT (B) wpamibing smadlin
(C) ayrmsgEL (D) Wp&5WIm smest
(E) allemL s flwelevemev (GRIP/21)

26. Arrange the chronological order
1. Death of Humayun
2. Second Battle of Panipat
3. Building at Fathpur Sikiri
4. proclamation of Din-illahi
(A)2-1-4-3 B)1-2-3-4
(©3-4-2-1 D)4-3-2-1
(E) Answer not known
GG evoTLeuMenm &Tev eulflenF LB &S5
1. @O L0TW,60fl6dT @MmLiL]
2. @uevorLmid UmesflLiLil® UMy
3. UCsLILT & &L LUIUGSH6
4. et @evmaml 1L mledlliL]

(A)2-1-4-3 (B)1-2-3-4
C)3-4-2-1 (D)4-3-2-1
(E) allemL s flwelevemev (GRIP/21)

27. Which land distribution system adopted by sultans of Delhi?
(A) Iqtadari (B) Mansapdhari
(C) Subhadhari (D) Zamindhari
(E) Answer not known
QL6V6I G6VGTETSHETITEL FMHMISQSTETETLILL L Blev eNBICUITES (LNemMm 6TSHI?

(A) @855 (B) wetrgig ]
(C) susmrl (D) g1fevrgrif]
(E) allemL s flwelevemey (GRIP/21)

28. Match the following

(a) Mahabaladhi Kritao 1. Commander of the Cavalry

(b) Mahashvapati 2. Commander in Chief

(c) Mahapilupati 3. Chief Justice

(d) Mahadanda Nayak 4. Commander of the elephant force
QUTBHS S &

(a) basTUTLS R (HHSH 1. BT L SeTLS
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29.

30.

31.

(b) & meveaILIG 2. LIS SH6TLS)

(c) baETYaILS 3. enevenin HH LIS

(d) n&sTmevoTL BITWE 4. WmemeotLl LI & SHermLG)
@ b ©© @ @

A) 4 3 2 1

B) =2 1 4 3

© 1 2 3 4

(D) 3 2 4 1

(E) allemL s flwelevemev (GRIP/21)

Who was the Director General of Archaeological survey of India at the time of Indus Valley

excavation?
(A) Dr. R.D. Banerjee (B) Sir. John Marshall
(C) D.R. Sahani (D) Max Muller

(E) Answer not known
FHa FoG 66Tl a&speurymgFFRuier GLMEH @HH W QFHTELELIMTIH6T Ui 6T @)\U&H & BT
Q&6OTIF6L WIT?

(A) wremeoreuy R.D. umeoried) (B) &5 ggmeoT LDMF61Q60
(C) D.R. Fammeufl (D) iomaseiv (Lpevevy
(E) allemL s flwelevemev (GRIP/21)

More than 500 seals have been discovered in Indus Valley civilization which are all

(A) Gold (B) Silver

(C) Terracottas (D) Copper

(E) Answer not known

Fbs FoQelel BI&FHESH0 5005GD CLMULL WHHTHET HeooTGL (HESHLILIL L SI.

2|6M6U G 6T 360 SWMHl&sLILL LG

(A) IS0 (B) Qeueirerf

(C) n6voTEDOTITEL Q& WIWILILIL L&l (D) Q&Y

(E) ellemL s flwelevemev (GRIP/21)

The source of dendrothermal energy is

(A) Biomass (B) Coal

(C) Pyrolysis (D) Natural gas
(E) Answer not known

Qe jmmeder (dendrothermal) @&M LD eTadTLISI

(A) 2 WiF&& Ter (B) plevésaif]
(©) QaulILuF ez 6] (D) @wmens aumuy
(E) allemL s flwelevemev (GRIP/21)
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32. Which of the following is the consequence of climate change related warming of rivers?
(A) changes in water salinity
(B) changes in fish migration patterns
(C) changes in pathogen load
(D) changes in contaminant levels
(E) Answer not known
LNetreupeusoreummiley  61&  BH &6 ledr  SHmevBlemey QGTLILMET  QeuLlLIUWILDITE 60 60T
aflemerey?
(A) B7 2_LI45 SeTemLn DTMHMHkIS6T
(B) Wettss6lT @ L LIQUIWITEY (LD6mM LOMTMH MBS 6T
(C) CrmMWSR LA GET 6TevoT600r 1 &6M 85 LOIT MM HI S 6iT
(D) B 21858 LOL L SG60 LOMDHMEISET
(E) allemL s flwelevemey (GRIP/21)

33. The major cause for the depletion of Ozone is
(A) Aerosol (B) Hydrogen Sulphide
(C) Hydrogen Sulphate (D) Carbon di oxide
(E) Answer not known
RCHFMTem6rT W HGID (NEHSWI &ITTevor]

(A) arel1ULeuld (B) semamL_ 6Tt FevsemLi(h
(C) emamL_rmer FeusGLIL (D) ssmiyLIest el L85emenv(h)
(E) allemL s flwelevemey (GRIP/21)

34. The pollutant which cause impairment in plant metabolism is
(A) Nitrous oxide (B) Carbon di oxide
(C) Sulphur di oxide (D) Carbon mono oxide
(E) Answer not known
STalT eUeTIFens IDMTMHMEH 6L GmmLUILIMTL 6L gHLBSSID 0TS

(A) emBLTerv 38emenv(h (B) &myLI6T-60)L_- 24,8 60760 (b)
(C) FovuT-mIL -2, 8 606 () (D) &smyLest GLomeoT 60600 (h)
(E) ellemL s flwelevemev (GRIP/21)

35. The Chairperson of National Disaster Management Authority is
(A) Prime Minister (B) Home Minister
(C) The President (D) Defense Minister
(E) Answer not known
CxFIW CUIflILT GLD6VITEUTEMLD 2, 60)600T LIS &) 60T & 60606l T

(A) Yy LBHE (B) 2_6Tgienm wBHSH
(C) germEILS) (D) ungismiLgSgienm bS]
(E) eflevL Qs flueievemney (GRIP/21)
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36. The most important scheduled tribes of Uttar Pradesh and Uttarakhand
(A) Todas (B) Nagas
(C) Santhals (D) Tharus
(E) Answer not known
2 5HTINTCHFID IDMMID 2 &5 T8Me0orlq.60T LOl& (&G WILDTEoT LILPHhIGLquleory
(A) Gz (B) &y
(C) emmBs6even (D) smgeny
(E) allemL s flwelevemev (GRIP/21)
37. The most populous State of India is
(A) Bihar (B) Maharastra
(C) Uttar Pradesh (D) West Bengal
(E) Answer not known
TG DEHLQH TG Q& MevoTL @HS W LOMHlevLDd
(A) Sammy (B) W&TIMeqLqTLD
(©) 2589 719rCsa1D (D) GM G aUMmISLD
(E) allemL s flwelevemey (GRIP/21)
38. The total no. of railway zones in India are
(A) Fourteen Zones (B) Fifteen Zo nels
(C) Sixteen Zones (D) Seventeen zonels
(E) Answer not known
@BHWmellev TulleLBeu LD6TITL 6VMHISEIfl6T QDTS S 6T600T600! | 856005
(A) LIS 6OTITEOT(E LD 6D0T L6V 51 & 61T (B) LS emr60TIH S LD 6TOTL_6V IS 6IT
(C) LB 6OTITMI LD EBOT L6V MBI & 6iT (D) USH CeOT(LY LDETOTL_6VIBIGH 6T
(E) allemL s flwelevemey (GRIP/21)
39. soil is found in all the districts of Tamil Nadu except Nilgris
(A) Red soil (B) Black soil
(C) Laterite soil (D) Sandy soil
(E) Answer not known
neooT  auens, S BILIG BBl sy wHMH TS
OmeUL_Lmigerflavin &meoor 1B & mal.
(A) Q& LbLnevoT (B) ssiflg6v Lnevor
(C) s1m&&6vL0600T (D) wevorev L0 evoT
(E) allemL s flwelevemey (GRIP/21)
40. Identify the option in which the rivers are given in North — South sequence
(A) Godavari — Mahanadi — Kaveri - Krishna
www.vetriias.com 9884421666/9884432666 13



http://www.vetriias.com/

41.

42.

(B) Mahanadi — Godavari — Krishna - Kaveri

(C) Krishna — Kavari — Godavari - Mahanadi

(D) Kaveri — Godavari — Mahanadi - Krishna

(E) Answer not known

ALEG - 05ME& aflmsullel 9msGeT Q&ETHSESHLILLHETET Q6TeNM | 6mLWITETLD
&IT600T S

(A) Gamsmeurfl - D&THS) - &GN - & (Herq.evorT

(B) wamHH - Camsmallf]l - B meaqeorT - STCauI]

(C) | maqevorm — HMTGaUN] — GaHMsMaulf] - LD&THS)

(D) &smGeurfl - Gamameuif]l — LD&MTHS - &) ([H619.600T T

(E) allemL s flwelevemey (GRIP/21)

A super computer that allows researchers to model energy technologies using artificial
intelligence is

(A) Joule 2.0 (B) Watt computer

(C) Zetta scaler (D) Fugaku

(E) Answer not known

LITHf] QMmev QS TLEIELEIL LIS 60T 94T MUIEFWITETT&H6T Q&FWMend Hieooreoor Ml eLoeuLD
AUIQEUEMNGS Q& IWLD GLLDLIL L &6vofl6eof]

(A) 2960 2.0 (B) 6urrL. & ev0flent
(C) FLLIT ervBHevT (D) UBTEE
(E) ellemL s flwelevemev (GRIP/21)

Which of the following facts about Covid-19 virus is/are wrong?

1. People who have been infected by the virus but do not have symptoms do not spread
virus

2. Reinfection is not possible

3. Anosmia (loss of smell) is a symptom)

4. Babies do not get infected by Corona virus

(A)1and 2 (B)1,2and 4

(C) 3 only (D) 4 only

(E) Answer not known

Gamaill. - 19 emeugel  QSTLFUMr HOSTemDd  Sammiseflsy Seummeor

T MEM/Fn MMIGEMET CH 6 G&FUIWIG|LD

1. emalge QsTHM gHuULllg@Gliien, ANGSM&EeT @6ueuTHaIISeTTey Q&S mTHmI
LIgeUms

2. ROGUD QSTHM gOULL BUBSHS WG O THD gOLIL TS

3. "‘WSIHS 2 6T HetTenin @PLIL" - @SHEHTHMIET MGBWTSLD

4. GLHOSHEHHS QSOSTHM LTS

(A)1mHmib 2 (B) 1, 2 inmmiih 4
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(O 1wL@d (D) 4 n_ (D
(E) allemL s flwelevemey (GRIP/21)

43. “The one who gave false judgement (Ethilalan), was deeply hurt by himself as a woman who
pulled out one of her breasts to burn the city”.
These lines which seem to indicate the story Kannagi is found in which of the following
Sangam Literature texts?
(A) Kurunthogai (B) Nattrinai
(C) Puranaanuru (D) Akanaanuru
(E) Answer not known
‘T HGLITETEIT FEUM6EV SHeUMM
R (NEM6V WSS H(GLOT 2 6voTev0r1"-
FHevoreooT H U T eugeLTHenms GMILILG GUMev S&meoor LWL @ eueuflser @Leumm
FHIS @605 WD

(A) GOHOSTNS (B) mmmflemevor
(C) umBTETH (D) o1& prenm
(E) allemL s flwelevemey (GRIP/21)

44. Which of the following rivers originate in Karnataka?

1. Bhavani 2. Palar 3. Pennaiyar 4. Cauvery
(A)1,2,3 (B)4,1,2
(€©)3,4,1 (D) 2,3,4

(E) Answer not known
B LD G 600TL UM MIET 6THS b MIG6T STHTL G LOMBleVESFH L 2 MLIG ) WIS 60T M 60T?

1. Leumeof] 2. LIMeumml 3. G\LI60TE0) 600T WL T 4. srailif]
A)1,2,3 (B)4,1,2

(©)3,4,1 D) 2,3,4

(E) allemL s flwelevemev (GRIP/21)

45. Consider the following statement
1. India Introduced the family planning programme in 1950s
2. The family planning programme adopted Neo-Marxian approach to birth control
3. End of National Emergency Ruled out compulsion in family planning
4. Planning and implementation was carried by central Government
Choose the correct answer
(A)2and 3 (B)i1and 3
(C)2and 4 (D)1and 4
(E) Answer not known
FELDG600TL. S D MG EED6T S(HS 6] LD
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46.

47.

48.

1. 1950 &b opeoor(hsertlev @bH W &@GLbu SLOUTL® G LGNS
ABWsLIUGSS WS

2. GOU sLEUTH SHL LTS USHW-MmIsH W 3ie@&mnenmuiler g LliLemLuiey
QFWUIWILL LS

3. GxaAw QBIHEHSHL 198 &H & 65 &6 L_60T &ML SLGUum®
SLLTWOTSSLIULa606m6v

4. SLLOL HMID QFWeLGESH0) IDSFH U TEFT6L GLOMO & TETETLILIL L S

(A) 2 bOoID 3 (B) 1 bmmub 3
(C) 2 OmILD 4 (D) 1 bomib 4
(E) allemL s flwelevemey (GRIP/21)

Kalpana Chawala Award for Courage and Daring enterprise in 2020 was awarded to
(A) Tmt. Senthamil selvi

(B) Tmt. Muthammal

(C) Tmt. Ananthavalli

(D) Tmt. Senthamil selvi, tmt. Muthammal, Tmt. Ananthavalli

(E) Answer not known

i QFWAIGEHSETEN, 20200 SLE00TIQ60T &HeVlleoTT  &Fmejeum  ell@psl &S
efl&aLILL L&)

(A) 9GWH. FbsILD QFaa

(B) 8®10H). (s LbLomeT

(O) 8®mWS). syeThBeueTer

(D) 2@wd. &FHH5AD QFal, KBS (NSSLDLOTET, H([HLOS 2,607 H S 6 6iTer]
(E) ellemL s flwelevemey (GRIP/21)

The word “Sustainable Development” is clearly indicative of the fact that
(A) Natural assets are finite

(B) Natural assets are infinite

(C) Natural assets are not resources

(D) Present model of Development promotes stability in nature

(E) Answer not known

"Blenev BIMISSHIN LINNBSS)" 6TeIld UTIS NS Slemefllnms &mILILgI
(A) QUINeMs QFMHHIHEET (LPLY6YM & T QLIS

(B) Quhens Q&FMSS1566T (PGDTSHS

(C) QUMM S QFME S5 56T 6UGTHIGHET 6V6V

(D) smGUMemS W auemi&F LTH Il @UWMHend eVEHTH ST Leml 2 5Gell&EH M
(E) ellemL s flwelevemev (GRIP/21)

The following are the functions of Niti Aayog
Find out which is/are wrongly listed
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49.

50.

1. To foster cooperative federalism

2. To give final approval to five year plans

3. Toimplement schemes for rural development

4. To advice the State and Central Governments on levying taxes
(A)r1and 2 (B)1,2and 3
(C)z2and 4 (D) 4 only

(E) Answer not known

B15) 9CWITEHS 60T Lictol1&6T HCLD Q& M(H &L (b eTeTeor

@F6L 6151/6Tem6U HUMTEH QS&BTHSHHLILL (R 6Tens!

1. Sl (mel Sl LTLFlenW 6U6T& 560

2. BHSTEOTOH HLLESHEDSHS QOIF RUILIS6 4 6lSH60

3. 20108 QUETIEF HGHTET HL_LHBIGHN6T 3{L06VLIH &SIV

4. WSHW MM DBV T&HEHEHHGS aUlfl UG QGHTLTLTS 2M6)6emT 6lLDMHIEG S 60

(A) 1 DD 2 (B) 1, 2 nmoib 3
(C) 2 OmILD 4 (D) 4 LG\
(E) allemL s flwelevemey (GRIP/21)

Which of the following statements regarding political parties in India is/are correct?

1. parties in India function within the institutional framework of a federal structure and are
bound by the country’s electoral laws and rules

2. Strong institutionalised parties are vital for healthy democracies

(A) 1 only (B) 2 only

(C)1and 2 (D) None of these

(E) Answer not known

TR W6 LA &6 GMIH S SLsmeoorLiILI(HLD aIMeSRWBIST6) 6r8l/eTemal &iflulmeTeneu?

1. @BHW SIIFW6 SLAG&HET @@ Sal LTS Sl LennlILSHG6T 6&F W6vLI([H &) eTmeor
GLOSILD BITL19.60T CHIS 6V &FL_LMIGET LnMmMID NG & 6EH &G &L (65 LILIH S 6oTmeor

2. GFLIUmeT RQETHTWS BTHHEHHEG IaelTerT BlmialaTomselLULl L &LF&6T 16

(LSS UWILDITETEN 6
(A) 1 L@ (B) 2 nL_(\tb
(C)1mmid 2 (D) @eummlev gsiLdlsvemnsy
(E) ellemL s flwelevemev (GRIP/21)

Which of the following (Book-Author) is wrongly matched?

(A) Half Girl friend - Chetan Bhagat
(B) My country my life - Dalai Lama
(C) Born again on the mountain - Arunimasinha
(D) The country of first boys - Amartya sen

(E) Answer not known
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51.

52.

FPE&ESTOTLILRL LUSSHMBGET MmN AHET  WSSTTISHe e Haumns
QUMTMISSLILIL_(H6TeTS! 6T&I7?

(A) ammLI&s eV s LIT6vor L - CoFH6 L5

(B) 6160t GHFLD 6T60T GUTLDEEM S - SH6M6V GUITLOIT

(C) wemev s LevoT(HILD LNM1H G 60T - S| (evoflnmenSlesramm
(D) Whs6v sy evorLN6eiTemenaserfletr G&H& LD - DTS W Q& 6T

(E) allemL s flwelevemev (GRIP/21)

Match the sport with the corresponding number of players

Sport No. of players
(a) Polo 1. 15
(b) Rugby football 2. 11
(c) Hockey 3.9
(d) Base ball 4.4
SmeoorlILUBGIL  aflemeTwmllgemneT USEMEG GCHemauwlmer efJF&Herfler  eTevoresmil 6ot
QUMHSH S &
(a) GumTGeurT 1. 15
(b) p&L smevLIB S 2.11
(c) anr&:&) 3-9
(d) GuervLimev 4.4
@ @ @ @@
A) 1 3 4 2
B) 4 1 2 3
© 3 1 4 2
(D) 1 4 2 3
(E) el Qzflueilsvemey (GRIP/21)

Which of the following is/are not situated in Rajasthan?

1. Dilwara Temples 2. Mehrangarh fort
3. Bara Imambara 4. Purana Qila
(A)1and 2 (B) 3and 4
(G 1and g (D)2 and 4

(E) Answer not known
GELp & meoor L1 (B LIS 6rfl6L 6T51/6Tema TTE36M S Menf160 360D H S (H & & el 606016V ?

1. Hevaurym Camallev g6 2. QaNIBIGTT CSHTLemL

3. LT @Wmiugm 4. JmeorT Seurr

(A) 1 bOmILD 2 (B) 3 wpoib 4

(C) 1 pHmib 3 (D) 2 bpaLd 4

(E) eflenL Qafluailcvemey (GRIP/21)
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53. Match the following women personalities withtheir achievement

Personality (Name) Achievement

(a) Anna Rajaram Malhotra 1. India’s first female to fly an aircraft

(b) Sarla Takral 2. India’s first female train driver

(¢) Arunima sinha 3. India’s first Woman IAS officer after
independence

(d) Surekha Yadav 4. First Indian woman amputee to scale Everest

FPESTOOTLILRID QLT SFTHeM6TWITETI&H6T aII&H6T Frgemeru|Ler Filumss

QUMHSH S &H

FMTSH 60T UITET (GILIWI) & TS 60)60T

(a) Sj6dTeOTIT ITRQTITLD LVCAMTS T 1. @BHWmelledr W6V GlLievor aflnmeof]

(b) FieuT B&TMEL 2. @BHWTelledr (&6 QLIeoor @Tuiley el H\BF

(¢) mH T Fetramm 3. &HHT @HS W meler (&ev QLievor IAS
G &

(d) &Gpsm wWrsel 4. eTalJeL. F&HISHMS ML B, &IT6V

ST S LILLL (NS6V @B W G Lievor

@ ® @ @

A) 1 3 4 2
(B) 3 1 2 4
© 3 1 4 2
(D) 3 4 2 1
(E) ellemL s flwelevemev (GRIP/21)

54. Match the Tourist spots of India with their States

(a) Hampi 1. Andhrapradesh

(b) Horsley Hills 2. Uttarakhand

(c) Hogenakkal 3. Karnataka

(d) Haridwar 4. Tamil Nadu
QUMTBHSS&H

(a) amidL9 1. &BEHTL NFEs&FD
(b) ammFerGev (& 60T MG 6T 2.2 5HI5TevorL_

(c) B&H60TH &6V 3. BIBIL&LD

(d) amiggieury 4. OLBTE

@ m @ @

A 3 1 4 2
(B) 1 2 3 4
©) 2 4 1 3
(D) 4 3 2 1
(E) allemL s flwelevemev (GRIP/21)

www.vetriias.com 9884421666/9884432666 19



http://www.vetriias.com/

35

56.

S57-

58.

Where was the venue of the 34 Global conference on road safety in collaboratin with WHO
and world bank in 2020

(A) Stockholm (B) California

(C) Holland (D) Geneva

(E) Answer not known

2020 Wiev 2_6v8 F&HTSTT Blmieuerd (WHO) nmmih 2 ev8 eum&) (world bank) @ ememorb s
Frene LUMSIsMUL umnlw 36ug FIalCsHE S(hSSTHIG HeOLQLIMHM @)L LD 6T&1?

(A) evLm&BGam LD (B) GamedsLumieofluum
(C) Gammevrb ! (D) Qxevfleur
(E) allemL s flwelevemey (GRIP/21)

The term biodiversity indicates

(A) Species richness and genetic variation

(B) Species richness and habitat diversity

(C) Genetic variation and diverse ecosystems

(D) Species richness alone

(E) Answer not known

LevauWilflwib ojevevgl 2 WflLiLeTIWD eTeoTm LIS GMILILNHeug!
(A) @eTEFQF(WemLD LDMMILD LOFLISTD GeumiLIT(H)

(B) @65 Q& (wenin nmmIh eumpedlL_ Ll LiedTouwILD

(C) byusm CaumiLim( LDMMILD LIVEIEME & LDEVEMLALIL|&H6IT

(D) @erdFQ&wenio DL (LD

(E) allemL s flwelevemev (GRIP/21)

Kindey stones are formed b y the Precipitation of the following chemicals

1. Cystine 2. Oxalate

3. Uric acid 4. Sodium

(A)1and 2 (B)1,2and 3
(C©)3and 4 (D)1,2,3and 4

(E) Answer not known
6THS @TFTWET QUITIHL &6 LI euSH 6 epeuld AmiBres &maseT 2 (e TS edrm 6or

1. Hlevieeor 2. 91,56rGC6L

3. wiflé 9dlevih 4. GFMIQUILD

(A) 1 mHmib 2 (B)1,210mmib 3

(C) 3 OoiLd 4 (D) 1,2, 3 LHMID 4

(E) allemL s flwelevemey (GRIP/21)

The colour of the skin in ripened apple, tomato and grape fruits is due to accumulation of
(A) Carotenoid (B) Lycopene
(C) Anthocyanin (D) Ethylene
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59.

60.

61.

(E) Answer not known
LWSS U106, &8 mer] nmmid Somlenguller Csmedler BIMSH ME&HE STIesorin

(A) sGpmLiIg el (B) emev&:@asmLTsor
(C) 2460185 me & Wl 6vfl 60T (D) et55) 60607
(E) allemL s flwelevemey (GRIP/21)

Single cell Eukaryotes are included in

(A) Fungi (B) Monera

(C) Protista (D) Archea

(E) Answer not known

RMNME &6 WEHHCWTL(H&56T @6aummieT eTH e L BIGHMSI?

(A) Wepenr s (B) Quomefym
(C) uGymLIgervLIT (D) o7& Wi
(E) allemL s flwelevemey (GRIP/21)

In the haber’s process for the manufacture of ammonia

(A) Finely divided iron is used as a catalyst

(B) Finely divided nolybdenum isused as a catalyst

(C) kFinely divided nickel is used as a catalyst

(D) No catalyst is required

(E) Answer not known

GamuUl QFWeWenmuiley, SDGLmef WM &wmiflgH e 60

(A) ) SIs6aTHEMTTESLILLL @ @HLDL] ellemerTw &SR Wmes LweTLBG S mal
(B) oy gis:6tsmemma e LU L nmedllilligerd aflener w,sSWwmss LiweTLUO &S M
(C) P 8156TEHTTEHSLILLL Bl&860 a1l6060TW,&S WIS LWeTLUGSRmSI
(D) a5 allementw,& & U|LD G5 emalllL(hleUH 6vemev

(E) allemL s flwelevemey (GRIP/21)

What are isotones?

(A) Atoms have same number of pr otons but different number of neutrons

(B) Atoms have same number of neutrons but different number of protons

(C) Atoms have same number of protons and neutrons

(D) Atoms of the same element with different masses

(E) Answer not known

OCFMGLITEOTSH6IT 6T60TLIGOT UITE0I6U?

(A) @55 LIGIITLLITET 6T600T600!186M 85 U|LD LOMMILIL L [B]W,L_ [T Te3T 6T600T6001186M 8 UL|LD 2_60)L UL
9| 6001 8> & 6T

(B) 565 BIW,L_[TIT60T 6T6v0T600118560)85 WD LOMMILIL L L|GIITL_L_ITET 6T600T6001186M 85D 2_60)L_LL
9| 6001 8> & 6T

(C) 55 LIGHTLLMeT LDMMILD [BIW,L_ L ITIT6T 6T600T600118:6085 WD 2_6M LU 3| 65015 56T
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(D) oLl L Blemmujemlw @CF S6uflln&H 60T 365018 86T
(E) allemL s flwelevemey (GRIP/21)

62. Silicon is one of the best known semi conducting material. As its temperature rises more, it
becomes a better conductor. But the temperature at which the silicon gets permanently
damaged is
(A) 100°C (B) 150°C (C) 200°CU (D) 250°C
(E) Answer not known
AN G&meT, AMHs AMWLILLL GOMELEH &0 R6aTMTEGWD. 35607 QeullLBleney
GG flemaulley 9iF FMHs SLEHWUTHMS. peTme @0 Geulilblansuuiley
160G & MetT BITHSTINMS QFWILLILIS
(A) 100°C (B) 150°C (C) 200°CU (D) 250°C
(E) allemL s flwealevemey (GRIP/21)

63. A rock containing the fluorescing calcite is illuminated by ultraviolet light. Then, the colour
of the rock seems to be
(A) Violet (B) Blue (C) Green (D) Red
(E) Answer not known
xefl 2 10WID STLMEFLMLE Q&Moo @@ UMM  Lm2ergm  eerfllmey
eeflfalGaslIUBGRMmS S LCUTE Lmammuiler BIMWMsS ComeTmiel Sl
(A) oergm (B) Beuld (C) ugera (D) euliLy
(E) ellemL s flwelevemev (GRIP/21)

64. Raman effect is scattering by
(A) Pure Solids
(B) Pure Liquids
(C) Pure Gases
(D) Impure Gases
(E) Answer not known
@ U6 aflenene] eTalalend serflFF Hmev
(A) ariieminwimeT HLLIQUTIHL&6fleL BlawWLbd sefl&EFEmey
(B) smilemnwimest Hyeumigerlev el seflF&Rgmen
(C) srmiemwmest aumuw]&&6leL BlsWLD eerfl&S & mev
(D) sriiemwwmm aumwsserfley Blawid eerfl&e & mev
(E) ellemL s flwelevemev (GRIP/21)

65. The common table salt is
(A) Compound (B) Element
(C) Mixture (D) Alloy
(E) Answer not known
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QUG GLemF 2 _LILIM6TSI

(A) GFrLOLD (B) seoflnid
(C) mevemeau (D) 2_Geuma:&:85606m61
(E) allemL s flwelevemey (GRIP/21)

66. Which of the following statements is/are true related to COVID-19?
1. Adding pepper to your soup prevents COVID-19
2. COVID-19 is transmitted through houseflies
3. 5G c ommunication networks spread COVID-19
4. Sun light does not protect oneself from COVID-19
(A)1and 2 (B)3and 4
(C) 3 only (D) 4 only
(E) Answer not known
Gamaill- 19 QS TLFLTeT BTN Fammisefley FlWmeT dumenm/FammigsemneT G556
Q&FUIWeLD
1. BT UGG SehFwlev (GL) Wer@ CoiuLISTeL @BCHTUI Q&GTmHenm &(H &H&H6VITLD
2. af 196V 2_6ITET FF&&6T ELNEVLIDME @SOS TH M LITe|LD
3.5G Q&memevs QGITLTL euemeuuiledr epeulnms: Camelll-19 LiFeyLd
4. Gl serfl @meuen CHMadL-19 6V @(BHG LIMSHIGTHSTS

(A) 1 OmILD 2 (B) 3 bmmiLd 4
(C) 3L (b (D) 4 (D
(E) allemL s flwelevemey (GRIP/21)

67. On rear wheel drive cars, with the engine in front it is a common practice to weigh down the
trunk in order to increase safety, when driving on -
(A) Icy roads (B) Muddy roads
(C) Hill roads (D) Plane roads
(E) Answer not known
(POTUSHS QUBH TN Q&meror LeT 65T @WESH &risefley LUMsIsTUILNME&Ts &evor()
FeOD GOMLILIG 6THS LIGH&6flev @l (heusmasns -

(A) uell&aL 1Y FTemn6eVEET (B) GemmIF Fmeneu&He6T
(C) nemevF FTemeL&6lT (D) sl0s6T FMem6ev&H6T
(E) allemL s flwelevemey (GRIP/21)

68. With whom can we associate the following quotes?
— “Be Educated, Be Organized and Be Agitated”
-“I like the religion that teaches liberty, equality and fraternity”
- Life should be greater rather than long”
(A) Dr. Babasaheb Ambedkar
(B) Thanthai Periyar
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(C) Karl Marx

(D) Mahatma Gandhi

(E) Answer not known

GG MTEILD 6TOUIHL 6T — @ HS CLOMBSHTETHEMET QGTL L LGS SH6VITLD?
-"sevellwnley QUIM, SemDLILIMS e60TMl HT6T, B6TTH6 & (W

-"BTeT @YWL WGTeTSH &HSHH WM, FOGSH6D, FCHMHTIHIAID ISR
GUTH & @EGLD"

-"QUMD&M S eTeTLIG 2 WSS @ (&8 GaustoT(hCL Sl HeTIDMETSHTH 2/6060"
(A) LasLy. umumeEmeL SIhCUSS&TT

(B) sheng Quflwimy

(C) &smev WM& 6N

(D) n&rsm &MHS)

(E) allemL s flwelevemey (GRIP/21)

69. Specific Experiments :
1. Blue Litmus paper is dipped into hydrochloric acid and it is changed into Red colour
2. Blue Litmus paper is dipped into oxalic acid and it is changed into Red colour
3. Blue Litmus paper is dipped into sulfuric acid and it is changed into Red colour
General Law : Acid is turned into blue litmus red. It is called

Reasoning.
(A) Deductive (B) Critical
(C) Everyday (D) Inductive

(E) Answer not known

AU UG TS eEOTSHET :

1. Bev Sl e smemer emaml Crm GCemmifle LS H 6V HEETSHS T, & FaulILmS
LOMMILD

2. Bev Sl Ln6v HTemeT 55 med8 3dlevEH eV [HeM6ITE &6V, & FlaULILIMS LOMmILD

3. BevedlL 106N HTemeT &HS L6VEH 6V [HEM6EITE S IMT6V, & FlaILILIMS LOMmILD

QuTsald) : obflevnmerg Hev Ol D6V HTemeT Flaulllmg WMMHMID. @S

UIBHSMH6V 6T60T MGG LILIHILD

(A) UGS (B) @emm&smemilh
(C) D erhGsmmild (D) 0smr&ss0
(E) allemL s flwelevemey (GRIP/21)

70. Among the following whom can be considered as “an intellectual who anticipated Dr. B.R.
Ambedkar by two generations”?
(A) Iyodhee Thass Pandidhar (B) Raja Ram Mohan Roy
(C) Ishwar Chandra Vidyasagar (D) Jyothi Rao Phule
(E) Answer not known
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GlpasmeorUaIT&efley WMy “Lrmsly B.R. 9bhGUSHT @Tetor(h Hemeu(PenmMEHEHEHES
(WeTCU TR ICHMTHER W SMe&F T D6l 1SF" 61608 S(IHSLILOQSB MTH?

(A) SIGWIMEH SN LIS (B) prggmymid GLOM&seor [Tl
(C) Ferveur FHE T & WTEFTEHT (D) Gmr&rmeu L Gev
(E) allemL s flwelevemey (GRIP/21)

71. Name the Chief Minister of Tamil Nadu, during Anti-Hindi agitation in 1965?
(A) Kamaraj (B) Rajaji
(C) Bhaktavatsalam (D) Sathiyamoorthy
(E) Answer not known
196560 @BH rHFLIL GUTITLLLID BLHS CUTSH SLBITLIQE WM (N&HVMNEFTTSH

QOGBHSTI?

(A) &rorTsy (B) prrggmedl

(C) USBeUFF6ID (D) 58 weniss

(E) allemL s flwealevemey (GRIP/21)

72. Thanthai periyar passed resolutions for the welfare of the women in the suyamariyathai
conference of
(A) Madras (B) Coimbatore
(C) Salem (D) Changlepet
(E) Answer not known
shensd QuUIlumy swflwmens WMBITL 6 G Hevel&EsHTEs S L BIGH6T

QuImMLUILILL @LLD

(A) QuoL_gmenv (B) Gmmwilbugs sy

(C) GFeuin (D) QemseuLIL_ (b

(E) allemL s flwelevemev (GRIP/21)

73. Thanthai periyar referred as the philosophy of self Respect Movement to

(A) not having belief in next birth

(B) not having belief in God

(C) there was nothin beyond sexual pleasures

(D)doing a thing which one believes to be right on the basis of reasoning,
thereafter, if any correction is to be made, correcting the mistakes on the
basis of reasoning and also having the mindest to accept the implication of
such actions

(E) Answer not known

SHend QUIlWMImey &WLflWmens @) UISeHEST 60T &6 SI6UD 6608 SnMLUILIL L G WITSH?

(A) o mUi9e BOL&GE @ 6V6VTINE @IHLILIS

(B) @emmeuett 155 BLOLINGemE @6V6VITINE @ IHLILIS

(C) apMleTLSH MG CLOEVTETSI R6ETMILD &)6V6EM6V 6T60TM &1 G 60)60T
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(D) uessMalar 9qliLamLulle FarteaE FlQWeTM B eIMS QFUIaG, Sjalalmm
QEFWsIeT SeaumiseT @LLeT, UGSSMHS HHEDE0HTETSE, GCLoswd
3|6Ue 6066 S6M6IT 6] M MISQ SITTEHLD LO6OTLILITMHIE

(E) allemL s flwelevemey (GRIP/21)

74. Who presided over the first Madras State, Self-Respect conference?
(A) Soundara Pandiyan (B) Dr. Subbarayan
(C) M.R. Jeyakar (D) E.V.K. Sambath
(E) Answer not known
(LSH6VITEUS QF6TEm6T LOMBl6eV, &FWLFlWMeng MBI LS HemnevenlnCGuimmi L &EH ulelF

wIimg?

(A) QE6THS T LIT6w0T LY. Ul 60T (B) LA&LI. &LILITFITW 60T
(C) erb. L. QF WSS (D) Fr.el.Cs. FLDLG

(E) allemL s flwelevemev (GRIP/21)

75. Match the following

(a) Swarajya 1. T.M. Nair

(b) Justice 2. T. Prakasam

(c) Dravidan 3. Thiru. Vi. Ka

(d) Navasakthi 4. Bakthavachalam

QUTBHSS&H

(a) srwipmgwim 1. 1q.6TLD.BITWI

(b) ggerv19.6M0 2. 19.9J&M&h

(c) ®mailLeor 3. 5 m.a.5

(d) peusFsH 4. USS6IFF6eID
@ Mm @ @

(A) 1 2 3 4

(B) 3 4 1 2

© 2 1 4 3

(D) 4 3 2 1

(E) ellemL s flwelevemev (GRIP/21)

76. In 1916 ‘South Indian People’s Association” was renamed as
(A) Home Rule Movement (B) Madras Association
(C) Justice Party (D) Dravida Kazhagam
(E) Answer not known
1916 1D 21,600T(H QG 6oTel I HH W D& GH6T GG eTeualmml LIN6TeoT T Sjenpd sl L gi?

(A) setTeOTTLF) @UI&HSELD (B) QFetTemedT SFMHISLN
©C) besas 5 (D) ®gmeilL &Lp&sid
(E) allemL s flwelevemev (GRIP/21)
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77. Which political Association became known as Justice Party?
(A) Home Rule League
(B) Home Rule Movement
(C) South Indian Liberation Front
(D) South Indian people’s Association
(E) Answer not known
6THS TR W G BH &L A WMs mmlwg?
(A) Gamrrib emev 658
(B) Gammih emev eLN6) G LN6ToTL.
(C) 6ys @ evoriq.uier eSLIGTEeoT LI evorL_
(D) Feus @ evoriquiest LNw,Li6Ten) 2GF &G F 60T
(E) allemL s flwelevemey (GRIP/21)

78. Who first introduced Cartoons picture in Tamil Magazine?
(A) Ramnath Goenka (B) T.V. Ramasubbaiyer
(C) C. Subrahmanya Bharathi (D) G. Subramanya Iyer
(E) Answer not known

(DS (NG696L &BHSSILILLMBIGM6T SO @&l oMWasLliLGSH Wl Wmy?

(A) gmbBTES CoMWMBIST (B) T.V. gmw&liemuwy
(O) C. &1y evorwt LTS (D) G. &1 y1n6vorul ey
(E) allemL s flwelevemey (GRIP/21)

79. Which of the following idea does not fall within Thanthai periyar’s definition of Civilization?

(A) Accepting every religion

(B) Trying for others also to get whatever good one has got

(C) The total progress of all human beings

(D) Progress based on the scientific inventions of todayand making life pleasant

(E) Answer not known

Br&sn UHnw SHensd Qulumfler euenIwenma:@&eT 2 L LLMS &([HEHSTEHED WMTS?

(A) 6m60TEH G DG HIGHED6T LD 6] M MIE 685 IT6ITEH 560

(B) mett  Q&MeooTL.  [HEOTeMINGET  IDMHMAITHERHEG UweaTU®Wn  euemssullevmeot
WWMHHR &Hemerm GLMG & MeTeU S

(C) siemers gl 060l S 78 @158 G L0M6T (LD60TG60TMMLD

(D) @earemmuwt gjnflafluiey &evor(B LI LiL&serfleormev FmLIBID LNeTGerMMLD @)60Tl6m L0 W TeoT
QUMD & 60 & LD

(E) allemL s flwelevemey (GRIP/21)

80. Who started the journal namely ‘Dravida Pandithan?
(A) D. John Rathinam (B) A.P. Periyasamy
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(C) Pandithar Munusamy (D) Irattai malai Srinivasan
(E) Answer not known
G\ymedlL LI6oorLq.&60T 6TedTm LISH flGendBenul o TG &SeUT Wmy?

(A) 9. 26T 7&F)60TLD (B) er.9. Quiflwamd
(C) uevoTy BT (WeNFTLA (D) @uLemL nemev Fevfleumaesr
(E) allemL s flwelevemev (GRIP/21)

81. Name the women leader who participated in the Neil statue satyagraha in Tamil Nadu in

1927-
(A) K.P. Sundarambal (B) Padmasani Ammal
(C) Muhtulakshmi Reddi (D) Selvi Durgabai

(E) Answer not known

SP&ESH 0 1927 9uh L600T(h), HEL 2 (HeU Bleney FHHWRTH CUMTTTLLEH ) H6eVbS
Q&5 Mevor L G\ LI6vor L0 6uof] (SWITE))-

(A) C&.9. &xHsyLOLITeT (B) ugnmamestl oiDLOM6T
(©) s & QL (D) QFsva SIT&s UM
(E) allemL s flwelevemey (GRIP/21)

82. Which one of the following statements is/are correct regarding Chenbagaraman pillai?

1. He hailedfrom Kanyakumari district ofTravengore State

2. He started Bharatha Matha Valibar Sangam

3. He married Laxmibai ofIndian National Army in 1931

4. He joined the German Army and fight against the English in I world war

(A)1,2and 3 (B)1rand 2

(C)1,3and 4 (D)1,2,3and 4

(E) Answer not known

FLpaIBI Fammisefley QFeorUsTTI0neT Netemner LMMIW FHlUIMET FnMmi/gn Mg 6T

6Tem6U?

1. QeI H;HaMhIF] ATH6 sertelWmGi] Inmall L&s FMibHEelr

2. @aIl LUMJS MST eumedlL FmhisLID 6TeTenlld Sjennlienll CHTmmiealsS s el

3. @alf @bBHW JreoTeusGams FMibhs L &WlUTmW 193160 H(HLOETD Q&FUIS
Q&ITEOTLIT

4. @eauf Qgiwumellu UemLulley C&FFbhE WHL 2 6usLICUMTll WHIHCWIHEHS
TH M GUITTITIY6OTT

(A1, 2 opmilb 3 (B) 1 ommiib 2
(O) 1, 3 HoIb 4 (D) 1, 2, 3 WHOID 4
(E) ellemL s flwelevemev (GRIP/21)

83. Which woman freedom fighter participated in the Madras salt satyagraha?
(A) K.P. Sundarambal (B) Muthulaxmi Reddi
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(C) Selvi Durgabai (D) Padmashini Ammal
(E) Answer not known
615& aHSemevll CUTITLL GLeorneoll QLM 2 Ll FSERHUTRTHEH0 HeVbHII

Q&ITEOOTLIT?

(A) C&.9. &H I mLITeT (B) wassievl &4 Qg
(C) QF6val gITEsTUMUI (D) usmHeofl QjbLomeT
(E) allemL s flwelevemey (GRIP/21)

84. Which one of the factors responsible for the South Indian Rebellion
1. Company Reforms in the palayam
2. Economic exploitation and heavy taxation of the company
3. Famine in 1798
4. Frequent wars of the company
(A) 1 only (B) 2 only
(C) 3 only (D)1,2,3and 4
(E) Answer not known
FELDS&H600TL S TIT600T Herflel Q15 6Tenl 1S Ul PeTTFF &G HTI6O0TIONGE MBS I 6TSHI??
1. umemerwmkigerflev & LieflulleT s (s s mi &6
2. & Uenl QUITBETTSTT &J6orL_6v LDMMID HH& LI Wimeor eurfl ellE) 1L
3. 1798@6L gMLIL L LIEHFLD
4. SOGL6T LSS W (1988 1Q.UITeoT GLIMTE6T

(A)1 (b (B) 2 nL_(p\b
(C) 3 L@ (D) 1, 2, 3 WHOID 4
(E) allemL s flwelevemev (GRIP/21)
85. © , , these three for aye to rulers of the land belong”.

In the above Thirukural the word “These three” means
(A) Education, wealth, bravery
(B) Virtue, wealth, bliss
(C) Sleepless promptitude, knowledge, decision making
(D) Love, Decency, Affection
(E) Answer not known
, , @LD eLpeiTmILD
BBIGT BleveoTmeT LiaUm &

GM&TemILD H(HEEGMeTleL @ L DGQLIMLD “@)DeN6ETMID” 6TeTenID Q&M GMILILIcn6
(A) meval, QF6vauLd, afFLd

(B) @ymid, QUIMT®HET, @ 60TLILD

(C) srhismemLn, sevadl, Slevofley

(D) oj60TLy, LI6vOTL], LIT&FLD

(E) allemL s flwelevemey (GRIP/21)
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86. Whom does Valluvar call a fool, though he is learned and scholarly?
(A) One who fears to talk in the assembly of the learned
(B) One who does not get along with the society
(C) One who fears to go to the battlefield
(D) One who fears the rich
(E) Answer not known
LevsMmHMID M6V 6T60T eU6TEBOUT WTenTHF &L BB mTF?
(A) 5MCMITT Siemauuiey CLIF EHa & eTm 66T
(B) 26085565 563! [HL_5H&HTEH 66T
(C) CUMIGSHMTER MG E QF6V6V I ©hH8+ 5 60TM 6T
(D) Q&6vaUBSmTE 55600T(H 2 6H 5 6dTMmeU6m [T
(E) allemL s flwelevemev (GRIP/21)

87. ¢ These four a light of dreaded kings reveal” What are the four virtues of a

King according to Thiruvalluvar?

(A) creation, Production, Protection, Planning

(B) Morality, Wealth, Happiness, Eternal dwelling place

(C) Beneficience, benevolence, Rectitude and care for his people
(D) All the above

(E) Answer not known

“ BTG 2 L WMeTmd CallbSTHEG 6], 6TedT GU6TEHeUT 6TalmMenm
CaUbEH MGG E oG MTF?

(A) QuIMHMEY, FFLLL6V. HTEHSH, &THS6UESHSH6)

(B) @imLd, QuUTpeT, @e6dTLiLD, aF(H

(C) QsmenL, seneor, B, HTTHS &L9.&606Td &ITH S 60
(D) Gnm&s600TL. 2{6M60TSH SILD
(E) allemL s flwelevemey (GRIP/21)

88. What does the following thirukkural reiterate? “Who with deceitful mind in false waywalks
of covert sin, the five-fold elements his frame compose, deride within”.
(“Vanja manathan Paditrolukkam Boothangal
Anainthum agathe nagum”)
(A) False respect (B) False truth
(C) False behaviour (D) False pretence
(E) Answer not known
QUEHTF LDEOTES S IM60T LILG MM MT(LRESHLD LG MISH6IT
BHBID 55CH BGLD- @6 euellumSSLILIG S 1517

(A) Gumed wflwmens (B) GuImed) 2_svoTemLD
(C) GuImed W&&LDh (D) Gumed mLg LiL]
(E) allemL s flwelevemev (GRIP/21)
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89.

90.

o1.

What are the facts related to Hand Sanitizers?

1. most of them are acid based and not alcohol based

2. they are flammable

3. they are effective against spores

4. itis correct to nicely wipe off hand sanitizer from the hands before it has dried

(A)1and 3 (B) 2 only

(C) 4 only (D) 3 only

(E) Answer not known

& &E5H G lILumer (Hand Sanitizers) Q& MLTLTET 2_600T6en) D& 60 6Ts CH 6 Q& Ul LD

1  Qu@ElUTememerTal 9l QLI FTIHEHEN6, VHANTL QLI
FTiHSH 6l
3|6m6l [BEOTMITS 671118 G L ULl 6D6L
M6l FHLNMNFHHEHEG 6TH T Q& LIVTE LD 618 T600TL6mel

4. O&HEHIN0 2 676m "eMSGHFSHEFILLMTOT” 2 60(@HWLD  (LNOTCL  EHM6T  [HeTMTS
&6l HS HlemL UG FHWUTTOSTIH Q&I G

(A) 1 oomid 3 (B) 2 nL_(pLd
(C) 4 LW (D) 3 LL_(hLD
(E) allemL s flwelevemev (GRIP/21)

How does thiruvalluvar guide us to overcome trouble?

(A) Accepting trouble (B) Fighting tgrouble

(C) Giving trouble to the trouble (D) Feeling Remorse for the trouble

(E) Answer not known

SITLISENS 6Terel MM Qeu6v6v GalstoT(hLD 6TedTMI H(HeU6TEBT QBGOSR MTT?

(A) SLIUIQCW gFMHMIGQ S ITEITEH S 6V (B) et® 05 a1 GUMTTTH SH6V
(C) seTUSHDHG siaTUD A&HTHESH (D) sIaTUST 6T CUMTSI QUBHSIS6V
(E) allemL s flwelevemey (GRIP/21)

«

Irandum Thangaa Viyanulagam
Vaanam Vazhangadhu enin”
(Though the wide world lease and If heaven its watery

treasures cases to dispense)
(A) Charity, Love (Dharman, Anbu)
(B) Gifts, Austerities (Dhaanam, Thavam)
(C) Penitence, Pleasure (Thavam, Inbam)
(D) Virtue, Money (Aram, Porul)
(E) Answer not known
@UeoT(HLD SHIST elleeussLD
QUITEOTLD GULDTBIG TSI 6T60T ] 60T”
GLMSTERILD B ([HEEMET 6Tela6M6eITSH6T HEtLQLIMTSE 6T60TMI Fa MIH M SI?
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92.

93.

94.

(A) BL0LD, 6T

(B) smeorid, Heuld

(C) sauld, @eoTLILD

(D) @imLd, QuUITIHeT

(E) allemL s flwelevemey (GRIP/21)

What are the symptoms of COVID-19?

1. Fever, dry cough, fatigue 2. Loss of taste

3. Sore throat 4. Breathing difficulties
(A) 1only (B) 2 only

(C) 4 only (D)1,2,3and 4

(E) Answer not known
GELpamenib 9nlGmlsefley Camalll—19 Q&ML ITLITETemN6) 6T60)6U?

1. &TLFFO, eumL_(h @ Loy, GFMFa 2. &6l ML HMeT @ eveumney CLImeUS
3. Qg mevoTemL 6160 4. ep&& all(heudlev oD

(A) 1 LD (B) 2 nL_(pLd

(O) 4 LLGWL (D) 1,2, 3 LOHID 4

(E) allemL s flwelevemey (GRIP/21)

Pick out the effect that is not related to the impacts of Earthquake

(A) Fissures (B) Collapse

(C) Tsunamis (D) Depression zone formation
(E) Answer not known

LU UmGHUL&EGTTH QsTLILUMM elleneareneal 5le] QFU1s%s

(A) Nemaysset (B) 3emr 0L IDMTEH6V
(C) srarmidl s 6iT (D) Tp6| LD6TITL6VLD 2_(HEUTSH 6V
(E) allemL s flwelevemey (GRIP/21)

Whom does Valluvar refer to as blocks in the Kural
“Arampolum koormaiyar renu marampolvar”

(“Though sharp their wit as file, as blocks they must remain..”)
(A) Those who speak useless words

(B) Those who are void of humane courtesy

(C) Those who do not have love in their hearts

(D) Those who covet others things

(E) Answer not known

"9IFIDGUIMSYILD FaFemlnul Grenild OFIDGLITeLeUT”

DD GUIMTETMEUFTSH6T 6T6edTMl aleT@heurmev &ML LL®G Uy wWimy?
(A) Lwerflev Q&FTeL GUIGLIAIT

(B) ID&&6T Li6voTL] @6V6VITS 6T
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(C) 9155560 60T GeLeVITHeUT
(D) mlest QUTIHEBHEHES L0 &F LI LIGUT
(E) allemL s flwelevemev (GRIP/21)

95. According to thiruvalluvar “what is friendship with the good” compared to?
(A) Having friends who make our heart happy
(B) Having boks that give perpetual delight
(C) Having a face that shows anger
(D) Having a staff that measures one’s friends
(E) Answer not known
LWIVQSMTMID  LesoTLemLWmery Q&ML eTem Ll GUMTMSS 6Tl FH(HeU6TEH6UT
Fo B MTH?
(A) &&H5 BLLIG GUTETMSI
(B) maflev@ s mmild HIeV BHulb GUMTeTmS!
©C) 50555 &TLMHIWD WD CUTETMSI
(D) @ememepeny HLLG SeTLILCSHTH C&MeL GLIMETMS!
(E) allemL s flwelevemey (GRIP/21)

96. The saying “thirukkural” has a balanced religious quality is because

1. People from all religions say that it belongs to them

2. Because people who say there is God and people who say there is no God accept it whole
heartedly

3. Itis beyond Type, caste, religion, class

4. Because it writes about ethics and knowledge needed for human race

(A) 1is right (B) 2 is right

(C) 3 and 4 are right (D) All the above are right

(E) Answer not known

"GLOW BLIBleM6VLI LIGTOTL|" Q& TeuoTL Sl H(HE G MET TeOTLITT ©)&FnMMIGE 5ITJ6e00TLD
6TELEVITE FLOWISSHEIIHLD @S 6TID HIT6V 6T60TMI So MILD FIMLUILILI QLM M STV

2. SLaeT 2 6or(h ereorLieul WL BT @ 6vemey 6TedTLIRIMBL 2 albg gME&GW0 FmLUiLLl
QUMMGITEL

3. @eurih, &MH), FLOWLD aIGLIL ereveumaumMIMEG LD SLILMMHLIL L &T6L

4. Wweflg QTS MG QUTSIUTET RWESWLWD, SiMla|b Mla|migsLILG ST

(A)1 (b (B) 2 nL_(p\b
(C) 3 nHmild 4 (D) sjemenrgsild &ifl
(E) ellemL s flwelevemev (GRIP/21)

97. Who is the author of the novel “Manalveedu”?
(A) Anuthama (B) Bama

www.vetriias.com 9884421666/9884432666 33



http://www.vetriias.com/

(C) Ambai (D) Indumathi
(E) Answer not known
"Lneoorev ()" 6T6dTM HITeuedledT L& fluwiy wimp?

(A) siug 50T (B) umom
(C) &jbemu (D) @b&ing)
(E) allemL s flwelevemev (GRIP/21)

98. Which of the following book received Sahitya Academic Award written by Melanmai

Ponnusamy?
(A) Minsarapoo (B) Kalmaram
(C) Ahayathukku adutha veedu (D) Appavin Sinekidhar

(E) Answer not known
GLeVmetTemLD QUMeTeN&FFTINUN6T FTRSW NETOSLI Lfle: QUmHM LIenLLIL]| 6T5I1?

(A) Heremyliy, (B) :6uDTLD
(O) &TWHEEG B SS afb (D) oyliumeiler AICHSH &1
(E) allemL s flwelevemey (GRIP/21)

99. Who wrote the poem that has this as the opening lines
- Anbu Sivam irandenbar arivilar?
(A) Pathirakiriyar (B) Pattinathar
(C) Bharathiyar (D) Thirumoolar
(E) Answer not known
" 91607 Fleuldlyevor QLeTL Frlefeurmy”
- 6T60TS QIGITLTBIGLD LITL6M6VLI LIMTIQUIGUT WITF?

(A) uss TS TUITT (B) UL 1Ig60rS ST
(CO) uryswmy (D) ®menevr
(E) allemL s flwelevemey (GRIP/21)

100. Which of the following epic describes the significance of Thamizhar’s music?
(A) Silappathigaram (B) Manimegalai
(C) Neelakesi (D) Kundalakesi
(E) Answer not known
sLpFsefler @engd FmLiLNeneT (&S MTHGLD STLULNWD 6T5I1?

(A) PeulILE&TILD (B) oeoof1GLo & em6v
(C) BovBa&sd (D) @ 60rL_evCsHH
(E) allemL s flwelevemey (GRIP/21)

101. Who among the four Nayanmar made h is heart the temple for Lord Siva?
(A) Kannappar (B) Poosalar
(C) Vaayilar (D) Sambandar
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(E) Answer not known
LDEOTS STV Flauenl & &8 G MU &L 19Ul [HITUIETLOMF WITF?

(A) s>6v0T6DOTLILIT (B) weeury
(C) eurruleurry (D) sb0bS T
(E) allemL s flwelevemey (GRIP/21)

102. What are the characteristics of a classical language?
1. It has an independent literary tradition
2. It has alarge ancient body of oral literature only
3. It has alarge and ancient body of written literature
(A)1and 2 (B) 2 only
(C) 3 only (D)1and 3
(E) Answer not known
@ QFALMLIUIN6IT LI6oTL|S&H6TTeH SBLD& Tl 6Tems/eTelmenm &GMILILNL6eumin?
1. &HSHEILOTET/SH6e0f5S elleTh@GI0 @evdheW LFL]
2. QU(BLD LevTemL W LMmMID eumiQrdullevmer @evéHw LUmrbuUflwgsens L HGL

Q& MTevoTL_ S
3. QUBHLD LIetoTeM LW LDMMID 6NRSLILIL L @6ev&HU LUMTLUflLGnS 618 TeoorL Sl
(A) 1 mHmib 2 (B) 2 nL.(pb
(C) 3 LLEID (D) 1 Hmib 3
(E) allemL s flwelevemey (GRIP/21)

103. Which characteristic is expressed in the “Perumpaanatru padai” Verse?
(Mahamurai mahamurai nokki Muhanamardhu Aaana viruppin Thanin rooti”)
As the Mother willingly watches over they Child. Himself stood in the opposite direction and

saw
(A) Charity (Kodai) (B) Valor (Veeram)
(C) Motherhood (Thaimai) (D) Hospitality (Virundhomputhal)

(E) Answer not known
"LDSLNENM D&M CHMTESH (NHETIDIHS 3,60t el (HLILN6T &mevfledr mmL1q"”
- @UQUBLDLImeoor THMILILIemL LIML686V eTliLieoor] QeusflliLih&ma?

(A) QsmemL (B) &fyLd
(C) smutemin (D) BB mDLIGY
(E) allemL s flwelevemey (GRIP/21)

104. According to the evaluatin report of Niti Ayog related to Minimum Support Price
(MSP), which of the following statement (s) is/are correct?
1. MSP is declared before the sowing season
2. The idea behind MSP is to give guaranteed prices to the farmers and save them from
price fluctuations
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3. With globalization resulting in free trade in agricultural commodities, it is not important
to protect the farmers from theunwarranted fluctuations in prices

(A)1and 3 (B)1and 2

(C) 2 only (D) 3 only

(E) Answer not known

BlEH WCWTEHRT GombsLULF psTal allenew (MSP) QsmLjumer WLHLUILTE

SIMIHen s U6 LI BLHSTEILD 6T[HS Fon DM/ FaMOISH6T FiflWmengl/Flwmerenel oy, @Lh?

(A) "GeonBsLLEF 5T allenen” allensLiLs STusHME WeTCL nlallssliLm D

(B) "@eonmbsLL s 9576 allenen’uller GhMEsD allaugsmuilesens @ allene 2 G5TalImsLD
SeflliLg @G

(C) 2 evsnWIDmEEHdarmeL eTMLL(B6TT HHEG SmLWMD UISSHHEH T allemerelmds
alleusmw QuUTeTHefler allemevuiley gHUBL CHemauWmm gmm @M & miserflev
@Q@HE alaugmuilsener STLILS (&S WLD6V6Y

(A) 1 opmild 3 (B) 1 npmiid 2
(C©) 2L (D) 3 L (hLD
(E) allemL s flwelevemey (GRIP/21)

105. Acccording to nobel Laureate Abhijit Banerjee (Economist), what is the only solution to
overcome the economic pain in the short run in the wake of Covid-induced economic crisis?
(A) Putting more money in the hands of big corporates
(B) Giving more tax cuts for big corporates
(C) Putting more money in the hands of poor
(D) Giving more tax cuts to the poor
(E) Answer not known
GrmuUeL UflFg QUMM QUT®BETTSTT AMEHT 3LNLls5 CueTiedluller gnmmiliulg, Camelll
QUEBBHQASTMHMTEL QUITIHEMTTHTT QBHSHSEHIY FgHULBH TS @bhs CIHIHESHLIUITEY
gOULB6Tem QUITBETTSTT aledlenl GMISW &mev I LLenLuiléy &L LILgGSMEsmeor
FIeMH T Famielg WTSI?

(A) QU@ BlmieeTHIS 66T M8 s6Tlel 9H & Lietord Q& mevor(h) C&FFLILIS
(B) QU BmIeUeTHI&SEHEG aulfl GenmliL] QFulagl

(C) gemip eterflwl In& & efleT em&o6flev &G Lietord Q& meoor(h) C&FFLILIS
(D) gemip etefll D& S5 EHSHG alflGenmUiL] QF gl

(E) allemL s flwelevemey (GRIP/21)

106. Regarding the Indian economy, which of the following reflect, unprecedented suspensionof
economic activity in the first quarter of this fiscal (April-June) due to the Covid pandemic
1. Contraction of around 50.3% in the construction sector
2. Contraction of around 39.3% in the manufacturing sector
3. Contraction of around 10% in the agri, forestry and fishing sector
4. Contraction of around 5% in the Trade, hotels, transport sector
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(A)1and 2 (B)1and 3

(C)2and 3 (D)2 and 4

(E) Answer not known

@QBHW QUIGTTEHTISMS QUMMSES alem], GCoamailll QUEBHASTHMTL @bHS
B15) W M600TL9.60T (LNGH6V &MT6L LUGHUNL (FLITEV — 87O 60T) QUITIHETMTSTT [HL6)L.5 6085561160
peoT eTLIGUMSILD @)6V6eVTEH QLIBHLD (P& &I gMLIL LS.

FBLP& MDD FonMMIG6TI6L 6Tem6U @)HS 2 6voTemLnem Wl LIS L1658 5 66T m60T?

1. SL@Lmerll LUeflgerfley &I0mF 50.3% &F(H&EHEHLD

2. 2 MUSH siemmuiley &MY 39.3% & (H&HSHLD

3. GeuaTmevoremLn, eueoTedllicy LoMMILD LisiTaleT 2 MUSHUN6L &MY 10% & ([H&H 61D

4. iS55, HHIGLH HS/2 coreussd CUMEHGTSSE Slemmaerfley &InMT 5% & [H& 6D

(A) 1 0MmIb 2 (B) 1 ommiib 3
(C©) 2 o 3 (D) 2 bOID 4
(E) allemL s flwelevemev (GRIP/21)

107. Which one of the statement is incorrect regarding the Mesolithic period
1. Itis the Stone age between Palaeolithic period and Mesolithic period
2. They used tools of made up of Keny Small Stones
3. The Their Kadugal of thirunelveli region belonged to this period
4. This people burned their Dead bodies
(A) 1 only (B) 2 only
(C) 3 only (D) 4 only
(E) Answer not known
G LD 5 600TLen6US6rl60 @ 6emL& SM&MTeVLD LIMMIU SnMmIsetlel SealmmeTs 6Tgl?
1. @©&&MeuD LMW &MH&HMTVSSISGID UH W SMHEMTVSHSHHEGID @6emL LI L &Teulh
2. @OINGS&ET IDHF FINW HMHEETTEVTET &(HeNl&em6rT LIU6TLI(H &S 6oty
3. HBOBLGI WMall L& smeorliL( G5l SMH&HT @ HMEHTVSHMS
FMibsSNS &BHSILOH DS
4. @5&HMeV IDGSHET @ MIHEHaITEHM6T 6Tl 56T

(A) 1 L @b (B) 2 ot BILb
(C) 3 L GILD (D) 4 1O BID
(E) ellemL s flwelevemev (GRIP/21)

108. Match the following

(a) Backwaters 1. Linking up of river system for irrigation
(b) Canals 2. Used for crossing broad river

(c) Dug out Canoe 3. Connection one water way with other
(d) Dams 4. Used for some limited navigation
QUTBHS S &

(a) &4 1. QLHenm LIMFTSHM&HTEH LweTLBH S5
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(b) &meveumul 2. Ul Ymemm &HL5&5

(c) &P &mLeITI 3. @ B auflemwl LDHMECSHTH &) 60)600TE S

(d) s1emevor 4. GOIHW emellHG 2w60r B CUITEHGETS S
@ ® © @@

A) 4 3 2 1
(B) 3 2 1 4
© 4 2 3 1
(D) 3 4 2 1
(E) allemL s flwelevemev (GRIP/21)

109. Choose the incorrect statement related to recent Bank mergers in India

1. Large Banks will be able to borrow more from the market and thereby help the economy
revive

2. Bank merger will lead to increased operational efficiency of the banking sector

(A) 1 only (B) 2 only

(C)1and 2 (D) None of these

(E) Answer not known

@pewmeilley FUiL SmeumGeTled  BOLGUMID auBbIs  @eneorlil] Q&TLIyLITer

Fammiseflev Fflwumerens G ey Q& Wlwe|LDd

1. Quflu  eumERsET  FHsWIOMmHE  AH&HLTEH SHLET  UMHIGL  Hmeor
Q& ITETOTENEU TS @) (H& LD 6TETLIGIT6V, QUIMTIBETTSTTL WL QLB &H&LIHLD

2. MG @emeorliL], BTG SHenmUIeT Q&FWeLH Mem6T 2 WFSHSEID

(A) 1 10 @b (B) 2 ol (b
(©) 1 Hmid 2 (D) @eaummlev g&iLdlevemney
(E) allemL s flwelevemev (GRIP/21)

110. Who stated “Man is born free, self Respect is his birthright, Social Justice ensures social

equality”
(A) Thanthai Periyar (B) B G Tilak
(C) Kamaraj (D) Omanthurar

(E) Answer not known
"Loeof1& 60T &SHH TS LmsSHmmer, &w wiflumeang euefler Lpliyflenn, FensBe
FeNG FINHHUSGMS 2 MIFHLIBHISSID" eTeoTm FonmlUIeU WIMF?

(A) sHemg QuUIflwmy (B) umevBRISHTST H VT
(O) &morrg (D) @obaryy
(E) allemL s flwelevemey (GRIP/21)

111. Regarding the word “Fraternity” in the preamble of the Indian Constitution, choose the
correct statement(s)
1. Itleaves noroom for regionalism
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2. Itleaves room for communalism

3. Itleaves no room for casteism

(A)1and 3 (B) 2 only

(C)1and 2 (D) 3 only

(E) Answer not known

@Bl SyrAwevennLliNer WeaTeenFuile) LWeTURSSLILMWD "FCHTHTHSIID" 6T60TM
Q&ML QSTLILMET BLD&MemID FoMMiG6Tlev Fiflwmeraimenm CHIal Q& uiulea]LD

1. g NomhHWwealnssHMmE& @ LLnefleasms

2. 98 AGLUUAMESSHMHEG @LL6fl&ELn

3. 98 FTHWTSSH MG @ L L06f&H&HMs!

(A) 1 lopmild 3 (B) 2 nL_(hLd
(C)1wmmib 2 (D) 3 L (hD
(E) allemL s flwelevemev (GRIP/21)

112. Arrange the Chronological orde

1. Champaran Satya Graha 2. Kheda Satya Graha
3. Ahamadabad Struggle 4. Baisaki day

(A) 1-2-3-4 (B) 2-1-3-4

(€) 4-3-2-1 (D) 3-2-1-4

(E) Answer not known
GLpaevorLaumenm &TevalflensliL(hsSs

1. FTOUTTET &S WTHRT&HLD 2. CoHLIT FS&HWTH TSI
3. &G TUTS CUTTTLLLD 4. LG TS BT

(A) 1-2-3-4 (B) 2-1-3-4

(C) 4-3-2-1 (D) 3-2-1-4

(E) allemL s flwelevemey (GRIP/21)

113. Name the biographical work of Abdul Kalam Azad which was written during his internment

in 1916.
(A) Tazkira (B) Kadith
(C) Hayy Ibn Yagdhan (D) Kitab al-Miraj

(E) Answer not known
1916 QLD 9L6e00TIQ60 FlemmeauTaFSH 6T CGUMS TWSLILLL IS HEVITD T TS S 60
QUM G & Fiflen g Ul et QLIUIT 6T6oTeor?

(A) seq&m (B) 155
(C) am @\ Li6dT W& medT (D) 8511 6v-10gmeR
(E) ellemL s flwelevemev (GRIP/21)

114. Who produced the greatest work Tarjuman-Qur’an [a translation of Qur’an from Arabic to
Urdu]?
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(A) Dr. Zakir Hussain (B) Fakhruddin Ali Ahmad

(C) Maulana Abul Kalam Azad (D) Mohammad Ali Jinnah

(E) Answer not known

517830 607 (GTaLefleor 2yl QumPuwledmha 2.®a QwrmPlesE Qouwliul L
QUMPAQUWFLIL] eTedTm W&HF FMHS Lien L LILNemeor 2 (heums&H WwedF WITy?

(A) Dr. &y 2_em&eor (B) &L&emE B 6T 269 amlns

(C) QLDETEVITEOTIT BILI6V &6VITLD SLFMTE (D) wpamiblng 2168 gletreor mam

(E) allemL s flwelevemey (GRIP/21)

115. Which of the following statement is incorrect regarding Moulana Abul Kalam Azad?
1. He was bornin Calcutta
2. He was the editor of the Magazine called ‘Lisan ul Sidiq’
3. He published a journal namely ‘Al hilal’
4. He was elected the president of the Indian national congress in 1923 and 1940
(A) 2, 3 are correct 1, 4 are incorrect
(B) 1, 2, 3 are correct 4 only incorrect
(O 1, 2, 3, 4 are correct
(D) 2, 3, 4 are correct 1 is incorrect
(E) Answer not known
BLDG600TL G M MIG6TT16D GILDETEVITEOTIT LV EEVITLD SLF TS LIMMIW H6UMITET SnMmi 61517
1. QLDETEVITETIT SIL|GVGHEVITID QEFMEH V&S ST LIMBHSTT
2. @alf "eFmeT 2.6V FHHE" eteotm LISH flGemaullesr LS LILTRAFWT SLeumy
3. @6l SIVE 6TV eTedTm @ FH6emLp Qeuefll LT
4. @auf @bBHW CHFHAW STHEGIOVEHEG 1923 WMMID 1940 D evor(h S&Herflev
ST TH CHIHOGHHEHEHLILILLITY
(A) 2, 3 FamMG6T FflWmaTemel 1, 4 SHaUMITETEN 6
(B) 1, 2, 3 SamMI&6T FflUMeTem6l 4608 Sa MM H6UMTEOTS
(O 1, 2,3, 4 Fammiser FflwmeTemnel
(D) 2, 3, 4 Fammis6T FflWMeTen el 1618 Fo MM &6lMTeTS
(E) allemL s flwelevemey (GRIP/21)

116. Which of the following day was named to celebrate the release of Bipin Chandra Pal by
Swadeshi Leader of Tamil Nadu
(A) Day of Deliverance (B) Day of Mourning
(C) Swarajya Day (D) Direct Action Day
(E) Answer not known
GLpseorL 6Thg Bremms LT ehasrume aldigemey QFWWLILLL HrameT SLilps
FCHH HemevaliseT QuUWIFIL S LI Leorf?
(A) e (h & em6v BT (B) 3185 Herid
(C) &#CxF Herid (D) GBI LI E60E [HIT6T
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(E) allemL s flwelevemey (GRIP/21)

1177. Which of the statement is correct regarding Bharathiar?

1. Bharathiar participated in the Indian National Conference at Kasi in 1905

2. In 1906 lhe started Balabharata Sabhaat Chennai

3. He participated “Surat Congress” in 1907 along with VOC

4. He composed the Poem “Valiyave”

(A) 1, 2 are correct 3, 4 are incorrect

(B) 1, 2, 3, 4 statement are correct

(C) 1, 2, 3 are correct 4 is incorrect

(D) 1, 2, 3, 4 are correct 1 is incorrect

(E) Answer not known

LUTFSWmeny LM SBLhaetorL dunMmigertley Flumergl e1gi?

1. uUTrSwWmy 1905-60 &TAWIL BeOLQUMM @hHW CHAW SHHBHSSTIHR SHevbHI
Q& ITEOTL T
3jaUl 1906-6V LIMT6L LIMTS &FLIT 6T6dTm emLnLlemLl Q&Feoremenruiley LB SH 60T
Sl 1907 b eoor() &GS SMHRISHTEV Sl LSEH el F.ujLer
&6V[5HIC &ITEUOT LT

4. Sleuf "eumlsHGI eumdluIGel” 6T60TM LITL 606V @ UM mlu|6Termy

(A) 1, 2 B HMIG6T FflWLIMTETENE 3, 4 FnMMIGHET H6UMTEOTENE6

(B) 1, 2, 3, 4 Fammis6T SiflWimeTenel

(C) 1, 2, 3 M6t FFlWMETENE 4 S MM &6UMITETENE

(D)1, 2,3, 4 FaMHM&GET HAUMTETS

(E) allemL s flwelevemev (GRIP/21)

118. The Editor of Tamil daily Kudiarasu
(A) Thanthai Periyar (B) C. Rajaji
(C) Satyamurti (D) C.N. Annadurai
(E) Answer not known

& fl preflgmer G wr&ler op&Fluiry

(A) sheng Quilwmy (B) &. grgmgdl
(O) 55 wenrse) (D) &).6T60T. S{600T600T TEIEDT
(E) ellemL s flwelevemev (GRIP/21)

119. Name the person who threw a bomb along with Bhagat Singh on the Central assembly in

Delhi?
(A) Sukh Dev (B) Rajguru
(C) Sohan Singh (D) Batukeshwar Dutt

(E) Answer not known
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QL6VeIN U6V 2_6Term IDSHUI FLL L06TM&HF60T LS L1858 T BIG L 60T ©)60)600T 5 S Q619G 600T(h)
efF W BLIledT QUIWIT 6T6dT60T?

(A) &8C5el (B) @rre®
(C) Ggmamesr Ak (D) UL CHeGT B5
(E) allemL s flwelevemey (GRIP/21)

120. Rabindranath Tagore renounced his knighthood in protest against
(A) Home Rule League (B) Khilafat Movement
(C) Jallian Wala Bagh Massacre (D) August declaration
(E) Answer not known

Teib&IBIS Mol 750G aTH L O5Flelss Herg L LS0S SIDbHSTH

(A) GamITih emev 658 (B) ®evmus @uisH 8D
(C) gamedlwiett eumeumImss LI(H Q& MTen6y (D) opm6envl 9iMlsen s
(E) allemL s flwelevemev (GRIP/21)

121. Which one of the statement is correct regarding the Subhas Chandra Bose?

1. Bose joined the freedom struggle under the leadership of C.R. Das

2. 1921, he organised demonstration in Calcutta to protest against the visit of prince of
Wales

3. He boycotted the Simon Commission in 1927

4. He sorted on the Secretary and president of Bengal Congress

(A) 1, 2 are correct 3, 4 are incorrect

(B) 1, 2, 3, 4 are correct

(C) 1, 2, 3 are correct 4 only incorrect

(D) 1, 3 are correct 2, 4 are incorrect

(E) Answer not known

FBLDHETL S HMIGETIL S&LMEY FHEHT CGLmemer LM &FFluIMeT dn Mo 6T51?

1. &UMeq FHHT CUIMeN, H.oLT. HTe Senevemnuiel @BEH W elB GHemev CUIMTTTL LSS 6V
Q66T BB T

2. 192160 GaleVeN @ETAUTEFN &HVHSHTSHG ealmensd Uiflhs CUME aHissl
WSSOI LTT

3. 192760 eM&LOET &LOl6Q6m60T @\6UT L|M&: 8600115

4. QUBIGTET &THISH TN QFWETETITHLD, HMeValTTEHa D Lsell S GHTT

(A) 1, 2 51fl 3, 4 TS

(B) 1, 2, 3, 4 Fiflwimer gamm

(©) 1, 2, 3 FAWIMTET oMM 4 SEUMITET Sa MM

(D) 1, 3 rfllmeT Famml 2, 4 SEUMITET Fo MM

(E) ellemL s flwelevemev (GRIP/21)

122, Regarding the Poona Sarvajanik Sabha consider the statements
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1. Mahadev Govind Ranade was the brain of the organisation
2. The Sabha awakened the people of their political rights

3. It protested against the vernacular press Act of 1878

4. It published ‘Amrita Bazar Patrika’

Which of the statements given above is/are correct?

(A)1and 2 (B)2and 3
(CO)1,2and 3 (D)1and 3

(E) Answer not known

LLGEOTIT FJeumenfld FenLill MM &HSH 6V G& M6

1. WWaETCH6 Cahmallbhs FmeorCL @) 6uelluldh oSS 60T eLN6TWTSHF Q& UIGVLILLITY

2. @&FgFel &safler T&Hwev o flenwasemerll LM eNblliLevorTenel gMHUGSS WS
3. 1878 1b guevor(h) LS FG&HF FL LGS 6TH TS5

4. @euallwss “"ifles uTT USK&T aarTelld LSS el GealeflulllLgl
GG GO L auMESRWSH 6V &Il WITeTen6l 6Tem6U?

(A) 1 LHoILD 2 (B) 2 nmoitb 3
(O 1,20pHmb 3 (D) 1 npouibd 3
(E) allemL s flwelevemey (GRIP/21)

123. Which one of the statement is incorrect regarding Gokhale?

1. He started “Servants of Indian Society” in 1905

2. He went in to South Africa and helped Gandhi in his movement against Colour bar

3. Gandhi accepted Gokhale as ‘Political guru”

4. Gandhi described Gokhale as diamond of India, the jewel of Maharastra and prince of
Workers

(A) 1, 2, 3, 4 are correct

(B) 1, 2, 3 are correct only 4 is incorrect

(C) 1, 3, 4 are correct only 2 is incorrect

(D) 1, 2 are correct 3, 4 are incorrect

(E) Answer not known

FELDG&600TL S MMIGETI6L CHMTHEEVEM W LIMNY &6UMIT6T Sn MMl 6TS5I1?

1. G&HMEHGC6 "@ B W LIoofIWIMeT &L 6TedTm S emLDLIemLI 190560 FMLIMH S H 60T

2. @aif Qser UUflaemalnEg QFarm BlnQamaw RIS S&MHS UL 60T
@)\ 6m6uoTHS! Lievof 1w mdleot Ty

3. &MHH CaHMEGNMW H6TSl "SITH I GIHeUTS" M MI&HG6 & TeooTL T

4. &MHEH CHMECuemW  @hHwmeledr  emeuFld, W&EITQQTTeN6T  Henss,
Q& TleT TS 6rfl 60T @)6Te)TE 60T 6TEOTMI 6)IT6v0l18: & T ITIT

(A) 1, 2,3, 4 Famhmiser Fflumerenel

(B) 1, 2, 3 SammM&6T FflUMeTem6l 4 6UGl FaMml &6UMTeTS)

(O) 1, 3, 4 BnHms6T FflWMEITENG 2 QUG S MM &6UMTETSI

(D) 1, 2 FamMIG6T SFflWimeTeneal 3, 4 UGl FaMMIGET &6UMTeTSI
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(E) allemL s flwelevemey (GRIP/21)

124. Who served as British Ambassador to the Mughal Court?
(A) Bernier (B) Edward terry
(C) Thomas Roe (D) William Hawkins
(E) Answer not known
WaseTW gFenauuiey L1969 srsieurmse Levoflwmmmlulelr wimp?

(A) Quiesflwy (B) et euiL. @&l
(C) smwev G (D) eflevedwild emime: &) edTery
(E) allemL s flwelevemev (GRIP/21)

125. Who was called the “King of the Two Worlds™?
(A) Tripu Sultan (B) Hyder Ali
(C) Doondaji Waugh (D) Veerapandiya Kattabomman
(E) Answer not known
@ T6voT(h) 2_VHMEGLD | TF6IT T6OTMI eMLP&H S LI LIGUT WITF?

(A) BL &6 meot (B) emams i 2469
(C) arevor_med) aumss (D) efyLumevoriq ul &L L QLITLDLO 6T
(E) allemL s flwelevemev (GRIP/21)

126. What is Density of Population?
(A) The number of people living in per (one) sq. km
(B) The number of people living in 10 sq. km
(C) The number of people living in 100 sq. km
(D) The number of people living in 200 sq.km
(E) Answer not known
ID&ESHL QSMTeNsH QF M6 6T60TMITEY 6TEOT60T?
(A) @@ 317 G LS L fléL UE GG LD L0 & 55611 60T 6T600T600 1856015
(B) 10 517 ®Geurm LS L [fl6L 6uF &G LD L0 & &6rf160T 6T600T6001 15 605
(C) 100 #5517 BGeuIT LI Lfl6L aUE GG LD 0855611 60T 6T6v0T6001 18560185
(D) 200 &a17 PG 5L fleb 6UF &G LD 1088 6r160T 6T600T600T1 856005
(E) allemL s flwelevemey (GRIP/21)

127. In 1929, at a ‘Self Respect Movement’ conference in Chengalpattu, Thanthai Periyar passed
a resolution relation to an important matter —
- In 1989, 60 years later, Tamil Nadu had passed a law in this regard
- On August 11, 2020 Supreme Court passed a judgment in this regard
What is this?
(A) Giving equal rights to woman in government employment
(B) Giving equal rights to woman in family properties

www.vetriias.com 9884421666/9884432666 44



http://www.vetriias.com/

(C) Giving priority to certain communities in acquiring land rights

(D) Giving priority to certain sects in accessing holy places

(E) Answer not known

19290 9D 9Leo0T(h QFMBIGELILIQE Sl LUULL &Wnflwmems @uisbss MHTL g6,

SHMS QUMY @ (&S W el WL QSTLTLITeT SFL0Mersens @) ulmmleor

- &MY 60 QeoT(h&HEH&HG LIMmE& 1989 oyl Leoorlqe), SLOLP&HID 256060T FLLIOMS
QuimMlwig.

- QL& 11, 202060 2 FFHHNGTMID IS QFTLFLUTeT SFLIemLIWILD eUpBIT WIS

GG TeERID LSHUN6L GamUiLil L el uwms?

(A) QUeTTEDI & T&F Calemney aUMUILILI6 &l 2 flemin

(B) @b QFTEH 6L QLIctTemI&HG Fo 2 [flenin

(C) e2(p PV FENHMIGEHEG Blevld 2_flemin QLMIEUE6L (etTeniflemLn

(D) ® Hev Nifloy s 668 Leofla @ L miserflev BempealFHev (eteiflenin

(E) allemL s flwelevemev (GRIP/21)

128. As per “Vel Pari” the book written by Thiru. Su. Venkatesan, the Sahitya academy winning

writer

1. “Paari” was a man of nature who knew birds, insects, plants like the back of his hand

2. The story “Vel Pari” was that of conflict between man’s greed and nature

Which of the above statements is/are correct?

(A) 1 only (B) 2 only

(C)1and 2 (D) None of these

(E) Answer not known

FTRSW &ML QeUeTM 6MWSSTTT FH(h. &. QeUBISGCLEFT aITSHETTE 6TWSLUILIL L

"GeueT LM eTedTm BTedledr Lilg 2 6iTem &FIWIMeT SnMenm / FaMmigGemneT G556 Q& W6 WD

1. 'umyfl” UmemeSeT, LLEFRG&ET, STaIIm&GeT wHweaimenm UM ageflaimseal,
aflamseb MBS GHS QUDE FTTHS OETST e

2. "GeueT UMK" HemsWmenTdl neofl&eofledr CLITMTenF&H @GN GUINeMESEHEGID @ emLullevmeot
(PT6600T LI METHMH G M)

(A) 1 LG (B) 2 mL_ (@b
(O)1wmmib 2 (D) @eummlev gsiLdlsvemesv
(E) ellemL s flwelevemev (GRIP/21)

129. With regard to the review related to the Tamil Film and master piece “Pariyerum Perumal”
Choose the correct statement(s)
1. Shows the ill effects of caste system
2. It won the Film Fare Award under the “Best film” category
3. It was a move directed by Thiru Mari Selvaraj and produced by Neelam productions
(A) 1 only (B)1and 2
(CO)1,2and 3 (D) 3 only
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(E) Answer not known

SMmVFR MBS LemLLiumer "UflGumid QU@L eTeoTm SOl HemyuLld LmMlw
aiFeard GMHS SLD&HTEvIND Fammiseflev/gmmmlev &Fiflwmereimenm G506 Q& WD
1. @QUULL FmHW &L LemlolIer Qamgul edlemerea|seneT &L 19.65TLHSmal

2. @QUULL "WB&FFRMBHS LLLD" eteorm aliflenauiley LNeSbEuT ell(pa QUHMES

3. @QUULIL & wbrfl QFarTLTL QUuHSELILG, Beuld sWTlly GWLESTe

QeueflWL LI L g
(A) 1 DL (D (B) 1 opmiib 2
(©) 1,2 bOYLD 3 (D) 3 bLGBID
(E) allemL s flwelevemey (GRIP/21)

130. Why India has not become self-reliant in edible oil productions?
1. High cultivation cost
2. Low productivity
3. Lack of Government support
4. Deficient domestic demand
(A) 2 only (B)1and 3
(G 1,2and 3 (D) 1 only
(E) Answer not known
FeLDUIGV 6T600TGl600TU 2 MLIGSH U6V J6dT @BHIT SMHEFTIL] 6mLLe6L6m6v?
1. Fa(HGHEVITETT FLIMGLIY QF6v6)]
2. GMDHS 2 HUSSH S meor
3. AT SBHT6 G)eVEn6y
4. GUTHIW 2 6THMTL(H CHemel @) 6iTenin

(A) 2 L (HILD (B) 1 npoih 3
C)1,20MmMID 3 (D)1 LD
(E) allemL s flwelevemey (GRIP/21)

131. Which one of the following agricultural practices is eco-friendly?
(A) Organic farming
(B) Shifting cultivation
(C) Cultivation of high yielding varieties
(D) Growing plants in glass houses
(E) Answer not known
NeTau@d efleugmu (pemnm&erflev 6181 @6V HL L,
(A) sflin GeueTmesoremnLn
(B) sm@ug ommmLd
(C) 919 & D& E6V H(HLD UM B S6T 60T FMEG LI
(D) ssevorevorrlg. f(h & 6160 6UETIHLD &ITEU IS 6T
(E) allemL s flwelevemey (GRIP/21)
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132. “Every registered Land holder is its proprietor”. The system is called as
(A) Ryotwari system (B) Mahalwari system
(C) Zamindary system (D) Mugalayar system
(E) Answer not known
‘U6 QF UGS Bleusensd emaUSSI6TeT 6lGQalMHIIHID HT QEMTHEHEHELTTT LeUTH"
Q\HS (MM @)6U6UTMI B 6MLNESHEVITLD

(A) @rrmwgsieuri] hemm (B) nassveurd] (pemm
(C) gers il (pemm (D) wpseumwiy (pemm
(E) eflevL Qs flueievemney (GRIP/21)

133. Identify the sector(s) of Indian Economy which are the most affected by Covid Pandemic —
1. MSME sector
2. Aviation sector
3. Tourism and Hospitality sector
4. Telecommunication sector
(A)1and 4 (B)i,2and 3
(C) 4 only (D)1and 3
(E) Answer not known
@BHW  QUTBETTETISH  CaHMll QUBHOSTHMTL  W&Heb  GMEFONS
LUTHESELILL L Semm(&H6T) —
1. Ao nmmild BOSST Qg Tlevaer (MSME)
2. ellnmeot GUIMSGUTES!
3. &HmIeLT LMMILD NBHESMTOLIY QGSTLTLITET Q& T60& 60T
4. QFTe6V QGHITLITLSI6mMm

(A) 1 LoHoID 4 (B) 1, 2 oHmid 3
(C) 4 LLGID (D) 1, bpoid 3
(E) allemL s flwelevemey (GRIP/21)

134. Which of the following states has shown the declining trend in the (GST) Goods and Service
Tax for the year 2019-2020?
(A) Uttar Pradesh, Rajasthan and Assam
(B) Haryana, Rajasthan and Mehalaya
(C) Andhra Pradesh, Mathya Pradesh and Manipur
(D) Maharastra, West Bengal and Tamil Nadu
(E) Answer not known
2019-2020 D QLE00TIQ 60T GFemal MHMID FIHG allfl a@Gedey Geammbg el CUTHS
&Moot LILI(B\LD LOMTIBl6VMBIG 6T WITem6l?
(A) 25817 NTGsH&FID, JTEVSTET LDMMILD (&ML
(B) amiflumestm, Je2envgsmedr LoMmID GLO&TeVTWIT
(©) @37 UFCsawb, SR WL KNFCHED LDMMILD LoevollLILLT
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(D) mamrymeql_gm, CLME aUBISLID WMHMID SLALBTH
(E) allemL s flwelevemey (GRIP/21)

135. Consider the following statement.
The objectives of fiscal policy are

1. Capital formation 2. Equitable distribution
3. Unemployment 4. Regional Balance
From these, which are correct statement?

(A)2,3and 4 (B)1,2and 4

(O 1,3and4 (D)1,2and 3

(E) Answer not known
L etTeu (LD FnMemm &6ent]
BB & Q& meTen dsWil6oT GBITE:85 b1 &5 61T T6L 60T

1. ELNEV S 60T 2_([H6EUMTE SN 2. FLOL0meT LSy

3. GeuemeveumulILILeoTemLn 4. FLOQILLITY eUemi&H
(A) 2,3 LOOID 4 (B) 1, 2 nHmib 4

(C) 1, 3 HOoID 4 (D) 1, 2 oHoID 3

(E) allemL s flwelevemey (GRIP/21)

136. Consider the following statement
The objective factors for determinants of consumption function are

1. Motive of precaution 2. Motive of liquidity
3. Motive of avarice 4. Laissez- faire policy
(A) 3and 4 (B)1,2and 3
(C©)1,2and 4 (D)1and 4

(E) Answer not known
LN6dTeU(HLD FoM6emIM G561 60f]
Bl&T6] FTienL Sreoor(HG 60T 86UMU 24,61 60T &ITIJ600! |85 6ITTeU 60T

1. (PeTQeTE&Ifl &Hem & 2. BFemLD HeoTenln GBHMEHSHLD
3. GUImen & GBMTEHELD 4. VWIS QSTETENS
GV TEILN G mmisefley Fiflumeraimenm GHial Q&FUIWIa|LD

(A) 3 ODILD 4 (B) 1, 2 npoib 3

(O 1, 2 HaYLD 4 (D) 1 opouid 4

(E) allemL s flwelevemey (GRIP/21)

137. Which is not related to direct tax Revenues of the central government?
(A) Taxes on Income
(B) Taxes on property and capital transaction
(C) Taxes on commodities and services
(D) Taxes on dividends and profits
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(E) Answer not known

SH W TH 6T CHITLY UBaITUNOTSEH 6 QSTLITL @6V6VTSH S 61512
(A) eu@pLoment eurfl

(B) @&ng s Haib epevgeot eurfl

(C) uevor_& LMD Lisoof eurf]

(D) uRISTS MW LMHMID @evrL aulfl

(E) allemL s flwelevemev (GRIP/21)

138. The first blue print for Indian planning came from an engineer administrator
(A) M. Visvesvaraya (B) Nehru
(C) S.N. Agarwal (D) M.N. Roy
(E) Answer not known
@QbSwmeller SLULIOLESTOT  UMILILBISGET (NS0  6hs  Qummlwmery
BlFeumSIUI L BH S 6ub S eor

(A) M.aflervGeueveaugulrm (B) Gm@m
(C) S.N. 95 F6uUmev (D) M.N. gl
(E) allemL s flwelevemey (GRIP/21)

139. Consider the following statement
1. Bihar, Madhya Pradesh Rajasthan and Uttar Pradesh have very high population
2. InIndia, Kerala has the lowest birth rate
3. West Bengal has the lowest death rate

Total population

4. The density of the population is Land area of the region

Among these, which are the correct onegs)?

(A)1and 3 (B)2and 3

(O 1,2and 4 (D)3 and 4

(E) Answer not known

LN edTeU(BLD FnMemm SeleollE o

1. Uasng, wssHw NrCsad, @UmRevsmer nmmid 2 557 LNTCsHFId Hamel 5 &
ID&GH6T QG Ten & GG 60T LOMHIEVLDTE LD

2. Gayenm W&E Geombs LImLiL e& gD Q& meor(h 6Teng

3. CUMG aUBIGTETD &6 GmmbE @MLUIL NG &HEHn 5 C\&meoor(h6eTeTg!

Qorgs 10gsL QOFTens:

4. DESHET QFHTNGH SLTHS eTeTLIG!

SLILGS e HlovLiLigiy
(A) 1 LoHoud 3 (B) 2 npoid 3
(C) 1, 2 HMOID 4 (D) 3 wmmild 4
(E) ellemL s flwelevemev (GRIP/21)

140. Which are the correct statement(s) related to “T-Bill” (Treasury bill)?
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1. They are issued by RBI

2. They are issued by Government of India

3. Treasury bills pay no interest

4. These are long term debt instruments

(A)1and 4 (B)2and 3

(©) 2,3and 4 (D)2and 4

(E) Answer not known

STl Fgammiseflev “T-Bill” (Treasury bill) @gmLjumer giflwmereumenm CsHiey
QFWIWe D

1. emeal @BHW fleFeu aum&uwimev QalerfluilL LiLIH &) esrmeor
2. gemel EH W TFmev QeuerfludlLiL® &) edTmeor

3. eummler W& ULl FLL @6Vl

4. 306l QBHIMBISTE &L60T LISH IMHIGH6T &L

(A) 1 HmID 4 (B) 2 0hmib 3
(C) 2, 3 DO 4 (D) 2 b 4
(E) allemL s flwelevemey (GRIP/21)

141. Thanthai Periyar wanted people to consider the following as equal to their lives
(A) Independence for the motherland (B) The family honour
(C) Self-respect (D) Rational faculty
(E) Answer not known
SBlengs QUM D& 56T HHIG6T 2 UN[HE G L1LIMTS 6Tevorevor Gauevor(hLh eTeor el (HLOLI WIS

(A) sl BrLiger all(H 6y (B) @b &eFalln
(O) swnflumeng (D) UGS S WD B medt
(E) allemL s flwelevemev (GRIP/21)

142. Consider the following statements
1. The term of office of the Attorney General of India is not fixed by the constitution
2. The remuneration of the Attorney General of India is not fixed by the constitution
Which of the statements given above is/are correct?
(A) 1 only (B) 2 only
(C)1and 2 (D) None of these
(E) Answer not known
B LD & 600TL_Fa MMM 6T600T600 L1 LIMTE 8
1. @BHWw &HEM6EVEMLO auLp sl g ) @h 60T LIGe&meuld SrFweveminliLiev
151 J oot U9 & & L1111 L6 6V 6116V

2. @bHw &HEM6VETILD auLpsI gl @eh I 60T eTH UILD SrFwevemnLiLev
Bl Fevor U & & LILLeN60emev QS&THE&SLILIL (R 6TeT eumd: e umigerflev 6Tgl Fiflumeorsi?

(A)1 (b (B) 2 nL_(p\bd

(O 1mmid 2 (D) @eaummlev g&idlevemney
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(E) allemL s flwelevemey (GRIP/21)

143. A Chief Minister supported by Thanthai Periyar challenged that “Show me a person who died
because a lower caste doctor wrongly injected or show me a building that collapsed because
it was buit by a low casteengineer”. It was
(A) Omandur Ramasamy (B) Kamarajar
(C) Arignar Anna (D) Kalaignar M. Karunanidhi
(E) Answer not known
sHeng QUM WHTOILT (NSHVMEFT @hel] @e6leumm Feaumel aNO&STH:
"STPHS FTH DMHSSIT SHeUMTH 261G GUITL L STV @MIES @H D6fl&HemT 6T6dT6ot]L LD
&Meoor 16 &HaID SVeVG SMTLHS FMH QUITMIWTETITE S&5THE CLIMET F HLI9L S0
6T60T6of 1L LD S MeuoTLN &80 LD." @) 6UeUTml SonmMluleul WITy?

(A) @whHaTT @urngmidl (B) smngmeay
(C) oiMlEb T o6vor6voTT (D) &6m6VEH 1. (0. &([HETOTTHIS)
(E) allemL s flwealevemey (GRIP/21)

144. Consider the following statements
A high court has jurisdiction to
1. Punish for its contempt
2. Tender advice on legal questin referred by President of India
3. Tender advice on a legal question referred by Go vernor of the State
4. Issue certain writs to protect fundamental rights
Which of the above statements is/are correct?
(A)1and 4 (B)1,3and 4
(©)1,2,3and 4 (D)2 and 4
(E) Answer not known
2 WIBHL6TMH AH ST QG TLITLITET HLDSH60TL. Fn DM GHEM6T 5561601188610
1. BHWTM eUDTLILISEHEE 55600TL 6060 6)LOMHIG 560
2. @QBHW GUWIEHF SaoewalflLbl(phgs UCMFmerseT CHLSGLILILLTL MG
6ULPMISTEVLD
3. WrBlev QEBHHLLAGBHES 2CTFTSH6T G L GLILIL LT 3605 AILPMHIGHETLD
4. SgliLuenL 2 flemngeneT LMSISTLILSMH&ETES Flev CUTTenenrdsemer LImLUILN&860mLD
@My 618 & IflWIMeT GnMmI?

(A) 1 Hoib 4 (B) 1, 3 nhmib 4
(O 1,2,3 LHoID 4 (D) 2 npmitd 4
(E) allemL s flwelevemey (GRIP/21)

145. Which of the following statements are not true?
1. In 1969, the Government of Tamilnadu appointed a two-member committee called
Rajamannar committee to examine Centre-State relations
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2. It recommended that All-India services should be abolished

3. It recommended that Finance Commission should be made a permanent body

(A) 1is not true (B) 2 is not true

(C) 3is not true (D) 1, 2 and 3 are not true

(E) Answer not known

FELpomeoor ILIGILD 6UITE & UMl G6rflev 6Tem6l/ (&) &eumTeTsl/(60)6U)?

1. WESHW MBIV 2 Me ST Sl Q&FUIW 1969 uld Levor( SWOIDBETH 3T&
grawettermy &AL 6T6dTm @ pevor(h 2 MILILNETISHEN6TES QSHTEIITL. G (LD 6R60TemMm
plwllg s s
315 P6ev @HH U CFenalsamaT eplilea: Galeor(hLD eTeoTml LIHSIenTEHS S
b5 aLemeorild BloieIlILL L @@ BIIFHEST SenLILTEG @ haHe Celcor(ld 6rerml

uflbsImrss s
(A) 1 seummeTs (B) 2 saummenTa
(C) 3 saummenrsy (D)1, 2 InMMLD 3 HeuMTETENE
(E) allemL s flwelevemev (GRIP/21)

146. Which schedule of the Indian constitution specifies the powers authority and Responsibility

of Panchayat?
(A) Seventh schedule (B) Sixth schedule
(C) Tenth schedule (D) Eleventh schedule

(E) Answer not known
@BHW TR WevemnnINeT 61HES L Lealeneoruiley LIBIFTUWSS WenmuleT SLmmev,
AH&TTLD HMID QUITMILIL&6T G LILIL (heTemeor?

(A) 76us1 9| L 616v)600T (B) 6618 2116160600
(C) 106u8) 91616t 600T (D) 116181 9L _616m600T
(E) allemL s flwelevemev (GRIP/21)

147. Consider the following statements
1. Governor is appointed by the President
2. He is the nominee of the Central Government
3. The Draft constitution provided for the indirect election of the Gvoernor
4. The Constituent assembly opted for the indirect appointment of the Governor
Choose the correct answer
(A)1and 2 (B)1and 4
(C)1,2and 4 (D) 3 only
(E) Answer not known
FELDE ST FaMEMM & ([HS6) LD
1. SEBHT GlQWTH HmevalTmey BIWLE&SSELILGSmTF
2. eI SHW TFMHISHSSTEV BTN Q& UWIWLD BT LeUTy
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3. aemre SIrFweemliLg FLLID SEBHT BIWNTSEHMEG WLenmins CHIH6
(WemMemU QLIS WIS
4. SIrFwevenioliL] BIFeoorl Feoll, SLEBHT CHIHNEG DeMMUNS BIUILDET (LO6MMEmUL

6T(H & &1 &6\ & TeoT LS
Frflwmer allemLemwl Q5HHASMH &5
(A) 1 bHOID 2 (B) 1 bbb 4
() 1, 2 DOYLD 4 (D) 3 GO
(E) allemL s flwelevemev (GRIP/21)

148. Which of the following Institutions has the final Power of deciding on the Composition of the
Upper House of the State legislature?
(A) Parliament
(B) State legislature
(C) Lower House of the State legislature
(D) None of the above
(E) Answer not known
Bl FLLI6TM Ceveneuuler 2 miLINer ereooreooll&en&Heml BlFeorules: Falql
BlmIQI6oTID WIMgI?
(A) UMTFMEBLOETMLD
(B) ormmlev &L L n6dTMLD
(C) inrBlev &L L 06T & H 60T HLpemel
(D) Cm&mnul eTeme WD @)6V6em6V
(E) allemL s flwelevemey (GRIP/21)

149. The Indian President has a veto power over
1. Ordinary bill
2. Money bill
3. Constitutional amendment bill
4. State legislation bill
Which statement given above are correct
(A)1and 4 (B)4and 3
(C©)1,3and 4 (D)2 and 3
(E) Answer not known
BT W GIQUITE SeM6ValT 6TH6T IS IS QF LR TN SIS &TTEHMS C&Te0orq HEHMTE
1. FMSMeor LDGFMST LS
2. BB CEFTSHT LSS
3. TR WevemILF FLL H(HSS LDCFMST LS
4. 0mBlev FLL 0GFTSHT LSS
(A) 1 poib 4 (B) 4 bhayb 3
(C) 1, 3 OYILD 4 (D) 2 oHayid 3
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(E) allemL s flwelevemey (GRIP/21)

150. Choose the correct statement
1. Money Bills can be introduced in the parliament without president’s approval
2. The finance commission is appointed by the president
(A) 1 only (B) 2 only
(G 1and2 (D) None of these
(E) Answer not known
Flumer gamenms G55
1. BlE weFmsm, ReermHuduiear uflbsenguillearn) BTLTEBLETMSHOD SMTEHEH

QWD
2. @BHW BIH 2Lem600TWD LeoTmH UG Wmev BlwWblesLILGH S
(A)1 (b (B) 2 nL_(pd
(C) 1 ommilh 2 (D) @eummlev gaiLdlevemney
(E) allemL s flwealevemey (GRIP/21)

151. The council of ministers of the Parliament hold office during the pleasure of
(A) Prime Minister (B) President
(C) Paliament (D) None of the above
(E) Answer not known

BITLMTEBLOETM S 6emnFFTeneal HIQLILIG, @6UTSH 3b6H6EMLOWITE

(A) Yrgo wp& i (B) geormrs LG
(C) BTLMEBLO6TMLD (D) @emeu eTgIq]LD G)6VEM6V
(E) allemL s flwelevemev (GRIP/21)

152. Which of the following articles broadly Govern the relationship between the Prime Minsiter
and the President?
(A) Articles 74, 75 and 78 (B) Articles 51, 74 and 75
(C) Articles 85, 74 and 75 (D) Articles 74, 75 and 79
(E) Answer not known
Neteu@ld  eThHs NG &HeT QermUHUS wommih Ugsn whSHflullar 2 me|sener

el eurfl& &) 60T M 6uT?

(A) & &6l 74, 75 WHMILD 78 (B) efll® &6 51, 74 LDHMILD 75
(O) @ &6 85, 74 LHAILD 75 (D) @ &6t 74, 75 WHOILD 79
(E) allemL s flwelevemey (GRIP/21)

153. Directive principles of State Policy are described as “life-giving provisions of the constitution”

by
(A) L.M. Singhvi (B) Ambedkar
(C) Rajendra Prasad (D) Radha Krishnan
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(E) Answer not known
ATF GBI aWNsETLH Q&MTen&ES6T 6feTlg "rRwevenllng 2 uilgefléeld

NS GaTTE D" eTeoT G M GOTITIT.

(A) et6v.61LD. RIS (B) 9IbBUS ST

(O @uregner Lyens (D) @umsm &) (®eiq 6v0T60T
(E) allemL s flwelevemey (GRIP/21)

154. Consider the following statements on Fundamental Duties :
1. Parliament cannot enforce it by a legislation
2. Itis applicable only to Indian citizens
3. All Fundamental duties are either moral or civil duties
4. Paying taxes is a fundamental duty
Which of the above statements are true?
(A) 2, 3 and 1 are correct
(B) 1, 2, 3 and 4 are correct
(C) 2 and 3 are correct
(D) 1, 3 and 4 are correct
(E) Answer not known
QLI & SLeMING6T QS ITLITLIT6T SLD& & 600TL 6)TEH D) ILIMIGHEM6T &66of18 561D
1. BILIEBLETMLD FL L &H60 en6euld @) 6mnd ALIBHISS (DLWITS
2. @& QHHW GLYL05&5SHEHHECH QLIMTIHIHS D
3. IMeTHS IQLILDL SHLMGEHCD R(P&HESH QBMIGMETCWT VWG Gl96emLID
&HL6N&EMETGUWIT 1 L1160 L_WITSH G1&T600T L_60)6)
4. U&H&HS alflGamer QFNGHAISID (H I LILIML SHLemLD
GM SamLILIL (R eTeTeummIeT eTemeu &FiflulmeTemed? DMHMILD
(A) 2, 3 nmmiLd 1 FiflwimeTeme
(B) 1, 2, 3 nmmilb 4 Frflwmeremnel
(C) 2 nmmib 3 FflwmeTeneu
(D) 1, 3 nMmmILD 4 FiflwimeTenal
(E) allemL s flwelevemey (GRIP/21)

155. Which of the following fundamental rights was converted as legal right?
(A) Right to Equality (B) Right to Freedom
(C) Right to Religion (D) Right to Property
(E) Answer not known
LY edTeu(peusTelMMIET 6THS L LILenL 2 flemin &L L 2 flennwms InmmmUiLL L &l?

(A) g gl 2_flemin (B) &556817 2_flemin
(C) s 2_flemin (D) amsgaiflenin
(E) allemL s flwelevemev (GRIP/21)
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156. Identify the fundamental duty that was added in 2002 by the 86t Amendment Act
(A) Respect National Flag
(B) Defend our country
(C) Develop Scientific Temper
(D)To provide opportunities for education to children between the age of 6-14
years
(E) Answer not known
2002 &V 860 SIFFWeE FrFer HHEHH FLLID epeulnmd: CoFisHsLILLL g liLeml
FHLemnen Ul SevorL M5
(A) CaAW Q&MY MW DS SHSH60
(B) BLO& BTLeOL LITSHIHTESH60
(C©) aleflwiey 2 _emriemneu GBS SIS 6V
(D) 6 W6V 14 QUG GLLMHENSHHEHESTET S6val &MEGLD eUMUILIL] QILPMHIEG S 6V
(E) allemL s flwealevemey (GRIP/21)

157. Consider the following statements
1. The consititution of India establishes a Parliamentary form of Government
2. Prime Minsiter is the Had of the Government
3. President is the Head of the Government
4. Real executive power rests with the President of India
Choose the correct answer from the following
(A)i1and 2 (B) 3 only
(C)2and 4 (D) 4 only
(E) Answer not known
BLDG&HE00TL S MHemM &H(IHSH6LD
1. @BH W TR WevemnDLILF FLL LD LIMTFTMTEBL06TM S TFMTHIS (enmenl Bloiallu]eTens
2. NJsL0T STFTHISSF 6T &emevel] OLelTT
3. GIQWTE S6ValT STEMMHISESH 6T HeMeValT QLT
4. GIQUITE HM6eVaIJ 2_600TenLOUWIITET QEFTL S SHSMTTLD G & Tevor L6l
Frflumenr aflem 6ol &evorL Mg

(A) 1 mHmib 2 (B) 3 nL_(hb
(C) 2 bOmILD 4 (D) 4 L (BID
(E) allemL s flwelevemey (GRIP/21)

158. By what name or names is our country mentioned in the Indian Constitution?
(A) Indian and Hindustan (B) India and Bharat
(C) Bharat (D) India, Bharat, Hindustan
(E) Answer not known
@B W TR Wevemnnlilev ML LUl GeTer @bEwImelledr QLIUIF WImgI?
(A) @B wietT LnHDILD G)1b&I6M G 6T (B) @b wim nmmilh LML
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(C) umgsLb
(E) eflevL Qs flueievemney

159. Match the following

(a) Article 39(b)

(b) Article 48(A)

(c) Article 39(d)

(d) Article 39(A)
QUMTHS S

(a) ¥l 2 mitiy 39(b)

(b) FLL 2_miti] 48(A)
(0) L 2 oty 39(d)
(d) L 2 oitiy 39(A)

@ B (o
A) 1 2 3
@B) 4 1 2
©) 4 3 2
(D) 4 1 3

(E) eflemL Qs flwelevemnsy

160. Match the following

Preamble as
(a) Political Horoscope
(b) Political Horoscope

(d)

N B W A

(c) Keynote to the Constitution

(d) Paradise of Lawyers

QUTBSS&H
WL enTuleT LigLD
(a) TP W6 YMH&L

(b) syrAwevemnLiNesr el

(¢) SIrFweven LI 60T y,60TLOMT

(d) aupsEMEFseflar QFMF&HEHI0n

@ b)) (o
(A) 1 2 3
(B) 2 1 4
© 4 5 2
(D) 1 4 3

www.vetriias.com

(d)

N o= 01 A

(D) @B& Wi, UTFSLD, @)balen g mer
(GRIP/21)

1. Protection of Ecology, Environment from
Pollution

2. Equal pay for Equal work

3. Free legal aid to the poor

4. Abolished hereditary property

1. @GS W6y IDMHMID FMHMIGF G L6V
OM&UMLIQed@BHE LIMSISTLIL]

2. Fl0 GaUeMEVE G 2ETHWILD

3. genLp eTeflW & HEHSHEG @6evals FL L 2 56

4. UgbLeMT QFTSSILenn (P55 60

(GRIP/21)

Said by

1. Sir Ivor Jennings

2. Thakurdas Bhargav
3. B.R. Ambedkar

4. K.M. Munshi

5. Earnest Barker

Famlwielry

1. &7 B6J Q6tTevf1m
2. HNGTHTEV LITEH6)
3. 1.9, 9IhCUSST
4. TH6OTEVL. LIMT& &I
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(E) allemL s flwelevemey (GRIP/21)

161. Find the value of k if
13 + 23 + ... + k3 = 44100
(A) 20 (B) 21 (C) 22 (D) 23
(E) Answer not known
k-eot L0G)LIL] & IT6v0TS
13+ 23 + ... + k3 = 44100
(A) 20 (B) 21 (C) 22 (D) 23
(E) allemL s flwelevemey (GRIP/21)

162, If A = 265 and B = 264 + 263 + 262 + ., + 20 which of the following is true?
(A) Bislarger than A by 1 (B) Ais larger than B by 1
(C) A and B are equal (D) B is 264 more than A
(E) Answer not known
A = 265 nHmid B = 264 + 263 + 262 + | + 20 greord QEHEMHIGHLILL(H6TENS! 6Tevflev
LY 6dTeu(HeustTeUM M6V 6TEI ©_600T6mILN?

(A) B 9pe0131 A 2 &l 1 9IFH SO (B) A 9pe0131 B 3 &l 1 1S &1
(CO) A ommith B &i0ib (D) B sy60181 A 23 el 204 91&H\ 51D
(E) allemL s flwelevemey (GRIP/21)

163. Find the missing number
3, 12, 27, 48, 75, 108,
(A) 147 (B) 162 (C) 183 (D) 192
(E) Answer not known
AN (H\LIL_L 6T600T6M 600TE> &5TE00TSS
3,12, 27, 48, 75, 108,
(A) 147 (B) 162 (C) 183 (D) 192
(E) allemL s flwelevemev (GRIP/21)

164. In the given number pattern find the next term

21 321 4321
33’ 444’ 5555’
7531 1234
A)—— B)——
( )6666 ( )5555
4321 54321
C)—— D
( )2222 ( )66666
(E) Answer not known
21 321 4321 . 196 i@ ) . )
_——, 6T60T e0)LOLILII6V 6T600T60)600T& &HIT600TSH
33’ 444’5555 — S SGISS
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7531 1234

(A) — B) ==

6666 5555
4321 54321
© 2222 (D) 66666
(E) allemL s flwelevemev (GRIP/21)

165. If “HUMBLE” is given by the code EHLUBM. What does the code EDUCATION mean?
(A) NEDOIUTCA (B) NEOIDUTCA
(C) NEDUOITCA (D) NEODIUTCA
(E) Answer not known
HUMBLE erestiens EHLUBM eteniin @nilufiLmev grliLigest EDUCATION eteniin @&niluf®)
61560601 (& MI&GLD?

(A) NEDOIUTCA (B) NEOIDUTCA
(C) NEDUOITCA (D) NEODIUTCA
(E) allemL s flwelevemey (GRIP/21)

166. What is the probability of getting an even number when a die is thrown?
1 2 1 5
(A (®)3 ©3 D)
(E) Answer not known

R0 USHmLemW 2 (BLOWLAUTWS @ QULemLLiLeL 6ol HemL LILGSMETer
Bl&LS &6 WTS!?

1 2 1 5
(A) p (B) 3 ©) > (D) P
(E) ellemL s flwelevemey (GRIP/21)

167. The present ages of Arun and Suresh are 24 years and 36 years respectively. What was the
ratio between the ages of Suresh and Arun, 8 lyears ago?
(A)4:7 (B)6:5 ©7:4 (D)3:2
(E) Answer not known
I|(HevoT LDMMILD &FEFag HMHEUMMGSU QUWSHEHET (MBI 24 QUBHLMIGET IMMILh 36
QUBL_MBIGH6T 6Tevlel 8 1,600T(H B EH & (LN6ITL] &FCJaY LOMMILD (H6oT el 66T eSS

6TEOTEOTEU TS @) (HIHS (H &G LD?
A)4:7 (B)6:5 ©7:4 (D)3:2
(E) ellemL s flwelevemev (GRIP/21)

168. A and B together can do a piece of work in 16 days and A alone can do it in 48 days. How long
will B alone take to complete the work?
(A) 18 days (B) 24 days
(C) 28 days (D) 30 days
(E) Answer not known
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A DHmih B opH W @@euld @eneotThdl @@ Gealemevemil 16 BITL &erflev wolaliuy. A
HeoflCW 3IHFHS Cauemeveml 48 BITL G660 (I LILMT 6reoflev, B SevflGuw b5 Causmevemul
6155 6M60T BHITL_G6rflev (LY LILITT?

(A) 18 BITL &6 (B) 24 BITL&selT
(C) 28 BT &6 (D) 30 BITL_&6iT
(E) allemL s flwelevemev (GRIP/21)

169. 210 men working 12 hours a day can finish a job in 18 days. How many men are required to
finish the job in 20 days working 14 hours a day?
(A) 156 men (B) 162 men
(C) 168 men (D) 172 men
(E) Answer not known
210 9LE00THET BTQETTOTMISEG 12 Wevoll GBI Coalemey QFUIS @ Calemevemul 18
BT g6rflev (I LILTT. 91C5 Gauemevemn IHITQETMTETMIS G 14 L06vo] GHILD Galemev Q&I 20
BT G660 (DI 55 675 60 60T 2600156 GG 601617

(A) 156 Sy 600T&H6T (B) 162 oy evorE6T
(C) 168 sy6voT86T (D) 172 oy evor86T
(E) allemL s flwelevemey (GRIP/21)

170. If 5 persons complete 5 projects in 5 days then 50 persons complete 50 projects in

days
(A) 5 days (B) 10 days
(C) 50 days (D) 55 days

(E) Answer not known
5 BLITS6T 5 Gauemeueml 5 BITL_&6160 Q&I (LN LT 6T6dfl6V, 50 HLITSH6T 50 G606V 86061
BT &erflev Q&I (WL LI

(A) 5 BTL&6T (B) 10 BT &6
(C) 50 BITL &6 (D) 55 BT &6
(E) allemL s flwelevemey (GRIP/21)

171. A maso n uses the expressin 2x3 + 16 to represent the area of the rectangular floor of a room.
If he decides that the length of the room will be represented by 2(x + 2) then what will the
width of the room be represented in terms of x?

(A) 2(x-2) (B) (x>-4)

(C) (x2-2x+4) (D) (x2 + 2x — 4)

(E) Answer not known

SLI9L GauemeuWmeT el SiemnmuiledT GFalals allgel Semngulledr LITLILeTa 2X3 + 16
6Te0Ts BIINMel15SI85 Q&MeooTL . &Heor HeTd 2(x + 2) ereord GMIGHEHLLIL LT
S| G&HEVIDITEOTSI X-60T FITFTLIMS LI 60T6 (T 6) 60T6M M MI 6T 6TSH1?

(A) 2(x-2) (B) (x>-4)
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(C) (x2-2x+4) (D) (x2+2x - 4)
(E) allemL s flwelevemev (GRIP/21)

172. The volume of a solid hemisphere is 29106 cm3. Another hemisphere whose volume is two-
third of the above is carved out. Find the radius of the new hemisphere
(A) 21.5 cm (B) 12 cm (C) 21cm (D) 23 cm
(E) Answer not known
R HeooTLD I MTHECHTETSH 60T SH60T 3(6T6] 29106 &.Q1F .15 enedTniley @ Tevor(h LIMIE & 60T
Slemeleter  MCMTT AHJ&HECHTeT  @HNmBHa QFHGSHEILGTETTD LG
M5 CHITETSH S 60T 3L TLD 6TEOTE0T?
(A) 21.5 Q&8 (B) 12 Q&.18 (C) 21 5.8 (D) 23 Q&.18
(E) allemL s flwelevemey (GRIP/21)

173. The difference between simple and compound interest on a certain sum of money for 2 years
at 2% per annum is ¥ 4. Find the sum of money
(A) 2 2,000 (B)% 7,500
(C) 10,000 (D)% 12,000
(E) Answer not known
2% oLeooT(R UL IQUIeL 2 SUET(HHEG RF AUFNEHGS RMLES Fal () QULIEGD Heofl
AL 195G @ CuiwleTer ellGHILIMTEFLD T 4 6T6vfl60 SjeuM NI 6T 3{& 6V 6T60T60T?

(A) ? 2,000 (B) 2 7,500
(C) 10,000 (D) ? 12,000
(E) allemL s flwelevemey (GRIP/21)

174. The difference between the compound interest and simple interest accrued on an amount of
18,000 in two years is ¥405. Then the rate of interest per annum is
(A) 12% (B) 15% (C)18% (D) 10%
(E) Answer not known
@ aumLEIS6 L 3 18,000 WHTeT gal (B el 1y, FHeoflaul lg u&weaimniler allgSH wmeFLd
3405 6T60fl6b au@BL eIl 19 6fgLD
(A) 12% (B) 15% (C)18% (D) 10%
(E) allemL s flwelevemey (GRIP/21)

175. Find the rate of interest if the difference between C.I. and S.I. on ¥ 8,000 compounded
annually for 2 years is ¥ 20
(A) 5% (B) 10% (C©) 15% (D) 20%
(E) Answer not known
¥ 8,000 &G @ revor(h 2600T(HHEBEHGID BN GG Fal () UL 196G, H6vfl eIl 198G
@ 6L G 2_6Tem eNlGHWTEFLD T 20 6T60flev UL 19 afS LD & TevoTds
(A) 5% (B) 10% (C)15% (D) 20%
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(E) allemL s flwelevemey (GRIP/21)

176. Find the principal on amount % 11,800 at 6% per annum for 3 years being simple interest
annually
(A) z 8,000 (B)% 9,000 (C) ¥10,000 (D) 9,500
(E) Answer not known
eLneaTMmetoT(M &H6mev 6% Hevflaul g efFHID QMTES QHTemnd T 11,800 6flHGID Fa6vs

55T600T S
(A) 2 8,000 (B)% 9,000 (C) z10,000 (D)% 9,500
(E) allemL s flwelevemey (GRIP/21)

177. The value of a machine depreciates at 10% per year. If the present value is ¥ 1,62,000. What
is the worth of the machine after two years?
(A) % 1,29,600 (B) % 1,30,600
(©) % 1,31,600 (D) ¥1,31,220
(E) Answer not known
R0 QUWBHISEHr SHCUTMSW WLHILL  31,62,000. @RQAITH beoT(H &G
QUbEITSS 6T WHIIL 10% GOMHME. 6eiley, @reor®h ETH&HET SIS
@ 6uell WS 78S 6T DG LIL| 6T6T60T 2

(A) % 1,29,600 (B)%1,30,600
(C)z1,31,600 (D) 21,31,220
(E) allemL s flwelevemey (GRIP/21)

178. A sum of ¥48,000 was lentout at simple interest and at the end of 2 years and 3 months the
total amount was %55,560. Find the rate of interest per year.
(A) 7% (B) 8% (C) 9% (D) 10%
(E) Answer not known
HLETMS QUPBIGLILLL &6 348,000 &G 2 o,e00T(H&G6T 3 IDMHS HTVEFMGSLI Lileor
Seoflall g epeuld QUMLUILILL QTEHS Q&Tas 355,560 85 @BHSS! 6reflev, aullq
65556055 &TeuoTd
(A) 7% (B) 8% (C) 9% (D) 10%
(E) allemL s flwelevemev (GRIP/21)

179. Raghul wanted to find the height of a tree in his garden. He checked the ratio of his height to
his shadow length. It was 4 : 1 He then measured the shadow of the tree. It was 15 feet. What
was the height of the tree?

(A) 15 feet (B) 30 feet
(C) 60 feet (D) 75 feet
(E) Answer not known
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@UT&6eL SHergl GCHTLLESHO 2 6Tem 6(@H LISHT 2 WrsHems AMlw ellgpiierm.
SUCUIMSI JjeU SIS 2 WISHMSUILD, Sl BlILpedlelr HaTganguild eThS 4l 4 : 1
eTedT NERGET6L 2 6Temensd AMBSTY. LN6T DFSH 6T Blpedlesr HeTd 15 241 eTeofley,
DTS F60T 2_WITLD 6T60T60T?

(A) 15 2419 (B) 30 o419
(C) 60 s119 (D) 75 Si1g
(E) allemL s flwelevemev (GRIP/21)

180. A shop keeper marked the price of an article as 15% more on its cost price and then offered
15% reduction for the article, then he got
(A) Profit
(B) Loss
(C) Neither Profit nor Loss
(D) Profit as well as Loss
(E) Answer not known
R0 HOLESHTIT @@ QuUMmeTlear L&s allemeuiley 15 FHaiEHD SHHIDMTESR )5 60r
G&M&E allemev WHSHMTT. ATV 15 F&H6IHID HeTEBLLG HHS DL QEFWHRMTT
6T60f16V HELGSHTIT ML HSHII.
(A) evrmuLd
(B) mL_LLd
(C) sumWLD @ EVEM6L HL L (LOLD G)6L6Em6V
(D) evmum&H 6| @@HEHEGLD BLLIDMSHELD @) (H& G LD
(E) allemL s flwelevemey (GRIP/21)

181. A hemispherical tank of radius 1.75 m is full of water. It is connected with a pipe which
empties the tank at the rate of 7 litres per second. How much time will it take to empty the

tank completely?
(A) 27 minutes (B) 26 minutes
(C) 72 minutes (D) 620 minutes

(E) Answer not known

QLD 1.75 LS 2_6TeT 2 eI aulgald QG TLLq wmmlswid Brmev Bl b eTensi.
G GLrular epeld  pMTYsEE 7 OLLy eofsbd  sTlguildebhas B
QaueflGWMmMUILIGILOTETTEY, QSTLIgemUl  eTelalene] GHISH6 (WWEISINTS  &Tedl

Q&FWWe6LTLD?

(A) 27 BIAlLriseT (B) 26 mlLALBigseT

(C) 72 mIALmisseT (D) 62 BlIALBigeT

(E) allemL s flwelevemey (GRIP/21)

182. Find the LCM of (x4-1), (x2-2x+1)
A x2+1)(x+1) B)EE+1)(x+1)
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O (x2+1)(x+1)

(E) Answer not known

S.QUIT.L0. &Tevorss (x4-1), (Xx2-2X+1)
A x2+1)(x+1)

O (x2+1)(x+1)2

(E) eflevL Qs flueievemney

183. Find H.C.F. of (x2y +xy2), (x2 + xy)
A)x+y
O x(x+Yy)
(E) Answer not known

D) (xz2+1)(x+1)(x-1)2

B) (x+1)(x+1)
D) (x2+1) (x+1) (x-1)2
(GRIP/21)

(B) xy
(D) x2 + y2

(x2y +xy2), (X2 + Xy) @pHweumnlesr LS.QILIIT.6). &IT600Td

A)x+y
O)x(x+y)
(E) eflemL Qs flwelcvensy

1 3 .8
184. Simplify 5 >t3 Of;

1
(A) 62

8
©6 5
(E) Answer not known
.. 1.3 .8
HFOEGS 55+ 0 5
1
(A6 2
8
©6 5
(E) eflemL Qslweflevemey

. 4 3 5 30 12 =27
185. Simplify : =+ —-— + —=-—
5 plify 3 2 3 12 ¢ 16
53
A_
( )12
33
(C)12
(E) Answer not known
. 4 3 5 30 12x—27
FOHHGSH —+ - - X
©%6 3 2 3 12 ¢ 16

@ >
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(B) xy
(D) x2 + y2
(GRIP/21)

(B)6-

(D)6 =

(B)6—

(D)6 =
(GRIP/21)

B
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©= D)=

(E) allemL s flwelevemey (GRIP/21)

186. According to Darwin, speciation is effected by
(A) small continuous heritable variation
(B) small continuous non heritable variation
(C) sudden heritable variation
(D) sudden discontinuous variation
(E) Answer not known
Lrmrelledr SaMmILILILG. @)60TMHIS6T 675601 eLneuld G5 MM miadl & &sLiLI(h &) 6dTm 60T ?
(A) 9w QaTLF LY FTFHS WLTmLTH
(B) 9w QSTLT DL 6V6VTS L MoILIT(H)
(C) ®ey wry &mihs LrumQ®
(D) Bl QamFFRwmm WmoUm@
(E) allemL s flwelevemey (GRIP/21)

187. Agriculture Information Service Network (AGRISNET) was launched for providing following
information viz.,
1. Rainfall
2. Fertilizers position
3. Minimum support price
4. Sister departments of farm community
Select the appropriate combination
(A)1,2and 3 (B)1,2and 4
(O 1,3and 4 (D) 2,3and 4
(E) Answer not known
adlaugmu ssalev CFeanel auemevweniolil] (AGRISNET) &psmemild QsmGLIL60 2 6Ter
H&H6UV 56T &(HRMI
1. lDemLp Qumsley
2. 2 7 @@L Bleveuib
3. GONHSLILE G5TT allemey
4. LI6DOT60)600T & eLN &5 F) 60T 160600 SlemM &6 Lim

(A) 1,2 0OMILD 3 (B) 1, 2 nHmith 4
(C) 1, 3 OO 4 (D) 2, 3 LHmILD 4
(E) ellemL s flwelevemev (GRIP/21)

188. Which of the following incidents led Thanthai Periyar to agitate for Communal reservation
(A) Representation for the backward classes was very little in Government jobs
(B) The Central Government resolved to invalidate the Communal reservation
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(C) The State Government resolved to invalidate Communal reservation

(D)The High Court and the Supreme Court declared as invalid the Communal
reservation for professional courses

(E) Answer not known

FLP&MTEID 67HG FLOLAIMBIGET SHems QUIflWmemT auGLLaTsS @ L @3550h CsHemel

6TedT HeTTFF el CHTHE 2 HH W S

(A) sips Gauemeusarfley LNeTamEm W au@LiLserfler W&s &Gammelmsr LTS mIH&sialn

(B) euLiusumiflumer @LLILBISH QF6V60MSI 6TeT 0SS W T8 @uImmiw SJLOmeorid

(O) euLigyeaumiflwmer @LLILIBISH Q&F606VMSE 6T60T LOMBleL & @umMlw SFLmeTLd

(D) esr@marmm  sevallulley  eauGligeumflumer @LUUBISER  QF6U60MEHl  6Teor
2 WFBH DD 2 FFHELGTDLD SiMflellsss!

(E) allemL s flwelevemey (GRIP/21)

189. According sustainable Development Goal India Index 2019> brought out by the NITI Ayog
for the year 2019, Tamil Nadu stands
(A) First (B) Second
(C) Third (D) Fourth
(E) Answer not known
201910 94,600T(H BIF) 2,CWIME Qeuefluil L @S WITeN 6T Blem6evH &S &8 8 66T & T & 8 meor
@& GG&H6T GMIUTL 1960, HLADBHTEH QUMHMIBEH GO G L LD

(A) pseTaugl (B) @pevorL_meu g
(C) epesTmmEuU s (D) mrestameu gl
(E) ellemL s flwelevemev (GRIP/21)

190. Water drop in space is spherical because in the absence/reduced effects of gravity, the forces
governing the objects are all the same and therefore the drop
(A) attains a shape having the least amount of surface area
(B) attains a shape having the maximum amount of surface area
(C) attains a shape having the least volume
(D) attains a shape having the maximum volume
(E) Answer not known
aflevorQauefluflev FIFLIL| eNlem& @)6V6VITE S 60TITEV/(&EMMEUTE @)(HLILIGTET6V, GLIM(H 6T 6rfl6oT
IS&MeoT  SemeTH S alenFHEBlD  FOWTE @UHERMS. @& erme  alleoraalertluilev
Brsaieflwmerg Comemallge QUMIGMS. Selamm Co&HMem allgalld 6T(hLILIG60TTey,
Brgsier]
(A) &8 Gemmelmeor GLMUTLIL] Q&ML all9aI&5mE MR MSI
(B) & o& )\ snmer GLMHUTLIL Q&ML allgeal&Hemns gMHHRMm
(C) &8 @GHermeEUTeT LITHLO6IT Q& TeuoTL el alGHenS g MHH M
(D) 0& 9B SLOMesT LITHLOET Q8 Me0TL aUlG.al&HMS ¢ DI MS!
(E) allemL s flwelevemev (GRIP/21)
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191. Athikadavu-Avanashi scheme is related to
(A) Drop irrigation
(B) Pour-irrigation
(C) Drinking water and Well Recharge
(D) Drinking water and Ground water Recharge
(E) Answer not known
5H&HL6| - SNBTFH S LD eTedTLIS BLD6)([HEUE0TEU M MIGT 6T%H60IL_ 60T QGTLITL|emL W GI?
(A) Qerl® By uTFarsFH L L LD
(B) @serflliiy By LmFersHIL L LD
(©) BT LHmID HeoTmis6eT Q&ML (KD H L LD
(D) B woHhoib Blevgsly b QFmla,l Gib S L 1D
(E) allemL s flwelevemev (GRIP/21)

192, Why Chennai is called as “Detroilt of Asia’?
(A) Due to the presence of Textile Industry
(B) Due to the presence of Automobile Industry
(C) Due to the presence of Leather Industry
(D) Due to the presence of Film Industry
(E) Answer not known
"L FAIWImeN6tT QLLFMUIL" 6T6oTMI G\ &F 60T60 60T 60T 36N &S LGSR MSI?
(A) gayefls Qs mifley @\bLILISETT6
(B) GUOTLLTF aUM&H6e0Td QSM60 @) (HLILIG 60T TV
(C) Gz mev QB TLSI6L @) (HLILIGEDTITEY
(D) @emrliuLg Qs mSlev @)HLILIG 60T TV
(E) allemL s flwelevemey (GRIP/21)

193. To reduce the Investment and the Incremental capital output ratio the following approaches
are to be accomplished

1. Static efficiency 2. Dynamic efficiency
3. Allocative efficiency 4. Technical efficiency
(A)1,3,4 (B)1,2,3

©)1,2,4 (D) 2, 3,4

(E) Answer not known
20 WsSh LOHOL AH&FEGL eegar Qaaluil( dSgsmses GMDES,
LN 6dTeu(HLD 28501 & (LN M&6T BlemmEeauMmLUILIL. GeusuoT(hLD

1. Bl6m6VUITEOT Q& W6V MedT 2. IDMMID Q& WEVH M6t

3. @3165(H FWeeLSH meor 4. QaTH6LHIL L Q& U6LH meoT
(A1, 3,4 (B)1,2,3

O 1,2,4 (D) 2, 3,4

(E) allemL s flwelevemey (GRIP/21)
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194. According to All India Survey for higher Education 2019, which State produced the maximum
number of Ph.Ds. in the country in 2018?
(A) Tamil Nadu (B) Kerala
(C) Maharastra (D) Gujarat
(E) Answer not known
eSS @B L2 Wi SHevellEsmer &HeordesMGLL 20196 LG 6H& LOMBlevld
2018wy SBGLLE  eTevoreontlGemsUllevmenT  LI.6TEFE.IQ.Gen6T  ((LDEMEITEU TS EMENT)

2 _(HeUMEH G W 6TemSI?

(A) slpBIGH (B) @ssgerm

(C) w&mymagLqym (D) ®&zrrs

(E) allemL s flwelevemey (GRIP/21)

195. Assertion (A) : Bringing down the influence of the rich and powerful people in making

Governmental decision making is the challenge in the concept of
“expansion of democracy’

Reason (R) : People’s participation and their control in meaningful, only when influence
of the rich is brought down. It results in “Deepening of Democracy”

(A) Both (A) and (R) is true and (R) is the correct explanation of (A)

(B) Both (A) and (R) is true but (R) is not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

(E) Answer not known

Famml (A) ! QIFMMHES (PLQ6UH S S0V, &LICOTSSTTTEH6T LDMMID H S&TILD
LI &5 0G5 66T QEF6LaITES GenMLUILIG 6T60TLIS! “8260THITUIS
aNfleuma a0 6Tevllh & ([HE S 60T FalTev QG LD

&ryeoorid (R) @ 0&&6T LBIQ&SGILIL LnMmILD Seuiserfler &L G\LIUM@H 6TeorL Sl
LI6OOTE: S T T &6l 60T QF V6T GenmEsLILIGWMELTS L HGL
QUTBEBMLUWSTH MWD @SI66a RTHTULSHSHMS PLLUBSSID
BL &I &H60&H U LDMGLD

(A) (A) nmoibd (R) &1, (R) - apeora1 (A)-60r Frflwimest edlemdssLn.

(B) (A) wmmib (R) &1fl, (R) - aeoral (A)-eor Fiflwiment efleméasb 21606V

(©) (A) &1l eperrmeb (R) Heugy

(D) (A) seumy speormev (R) &ifl

(E) ellemL s flwelevemev (GRIP/21)

196. Assertion (A) : Access to Primary Health centres helps identification, care and preventin of
communicable diseases in rural communities
Reason (R) : More optimum utilization of rural health infrastructure is expected to yield
expected results
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(A) Both (A) and (R) is true and (R) is the correct explanation of (A)

(B) Both (A) and (R) is true but (R) is not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

(E) Answer not known

Famml (A) : BITWLLILM &&HTHTT MLDWBIS 6T 6TerflHMH 3iemiGLh CLMSI
D& S6TlemLCW Q&THM GHITUISEMET 60 UITETLD &IT6oTeLD.
FHeuenll&&a] 0, HH&5Ha|D 2 56 H M

&myeoortd (R) : GSymliym &&MsTy 2 6TsL LenlnlI6r 2 &bH5 LweTLm@h
T TGHMEHGLD LIGVEMETS &(HLD

(A) (A) nmoibd (R) &1, (R) - aueora (A)-6or Frflwimeot elemdssLn.

(B) (A) wnmmiid (R) &, (R) - o618 (A)-6o7 Fiflwiment ellemg: a1 3j6vev

(©) (A) &l syeormev (R) Seuay

(D) (A) geugy apermev (R) &if

(E) el Qaflweilsvemey (GRIP/21)

197. Which is the first state to employ differently abled, in the Mahatma Gandhi National Rural
Employment Guarantee Scheme?
(A) Kerala (B) Tamilnadu
(C) Gujarat (D) Karnataka
(E) Answer not known
O&THM &THEH CHHAW 2618 Galemey 2 MGG H LEH6, InTHmgS FHmeormerflsener
Lieoof WD FSS W (LNG56V LOMHI6VLD 6T&I?

(A) G e (B) sllpmr®)
(C) ®&xrrs (D) &FBILST
(E) allemL s flwelevemev (GRIP/21)

198. Identify the Personality
1. He was honoured with such titles as Rao sahib, Rao Bahadur and Divan Bahadur for his
selfless social services he did for the marginalized in the caste order
2. His autobiography is Jeeviya Saritha Surukkam which is one of the earliest

autobiographies
3. He founded the Adi Dravida Mahajana Sabha
Who he is?
(A) Thanthai Periyar (B) Rettai Malai Srinivasan
(C) M.C. Rajah (D) M. Singaravelar

(E) Answer not known
3,©EH6M 06N U 3J6ML_UWITETLD &ITE00TEY LD
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1. &5 aflenguiley RgIGELILLLATHEB&ESTH el QFUIS SeTeTeulnMm Fens
GFaUSHEHEHHTEH [JMel USESTH, Jhel FTHLU WLOHMID Heurmedr USSTH  6Tedrm
UL LMBGemeT 0&THSS QaarralsasLILLLTY

2. 9arg &FwWeflens Sl &g &HHED I TIDLST &WEflengoerflel eeTmm@GLD.

3. gaf 95 Hrmell 0&TRer Fenlienwl Bloiefermy

Wy oeup?

(A) shemg QuUIflwimy (B) @uLemL nemev Lofeofleume 6ot
(C) erh.&). pream (D) erid. F\mISTT Geuevy

(E) allevL Gz flwelevemney (GRIP/21)

199. In January 2019, Indian Government approved the marger of three Banks. Which of the
following does not figure in merger?
(A) Dena Bank (B) Vijaya Bank
(C) Bank of Baroda (D) Lakshmi Vilas Bank
(E) Answer not known
96076l [fl 2019-6V ELOEOTMI EUTBIGT) & 60)6IT 62 (1HBIG) 60)600TE: & @)\H S U | T& 2|e0ING) aULPHIS WIS,
B G 600TL 6TeUIMBIG @S e(HMmIGH emeorLiLNev @)L LD QLImelleveney?

(A) Gz 6T aumIS (B) ellggwim eurai
(C) LGYMLIT eumIS (D) eveiq il eNlevmeiv 6k
(E) allemL s flwelevemey (GRIP/21)

200. “Post — Tsunami sustainable livelihood programme for the coastal communities of Tamil
Nadu”is assisted by
(A) World Bank
(B) International Fund for Agricultural Development
(C) Asian Development Bank
(D) International Monetary Fund
(E) Answer not known
SADBTLIQE) 2 6T6m &HLBUTT &S EHHETeT SGeoTMlleE LN6T Blemeuss UMD
S LEHDG 2 HH M
(A) 2.5 RIS

(B) elleusmw GbUML I MH&TeT FFauGsH & BIFWILD

(C) W aueTi&ER eumiG

(D) 576U & & BTevor BIG WD

(E) allemL s flwelevemey (GRIP/21)
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